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1 [ERIE] 34 1.0031 [SfidspRid  [TiRie I+ a=ror &= 650000 IRTAT

2 SRYNR 129 1.1083 [3f[depiRrd [uRie gz & 1000000 AR
3 AR 143 1.2944 [SfidspRId  [TRie - E=0r &= 1000000 Joig

4 SRYNR 137 1.3429 [3f[depiRd [uRie Fgzm e 1000000 NHHRI
5 SIRANR 166 1.5613 |[3f[dpid 3o 1000000 1..HRT
6 SRYNR 101 1.6746 |3f[depiRid  [uRie Fgam & 1000000 NHHRI
7 SFRINR 173 1.982 [SfidspRid  [TiRie I+ a=ror &= 1000000 EES

3 SRYNR 110 21519 |[3ffdiid  [gikiy Hg=or &= 1000000 NHHRI
9 ITRITR 3 2.5079 |sfideRd  [aRig Hg=o e 1000000 AR
11 SRYNR 182/33 3.0748 |3ifdRyd [aRfey gz &= 1000000 NHHRI
12 SIRANR 1421244 3.8184 |[SfidsRid [siam™ 1000000 1.HRT
13 SRYNR 135 3.8346 |3ifdsiyd [aRfey gz &= 1000000 NHHRI
14 ITRITR 5 4.6113 |3ifdpRd  |aRlY Fgzm &= 1000000 A TR
15 SRYNR 130 5.1776 |3ifdeRid [aRfey gz &= 1000000 NHHRI
16 SIRANR 11 5.8248 |3ffdoRd  [aRig Il & 1000000 1..HRT
17 SRYNR 112 6.7956 |3ifdeiid [aRfey gz &= 1000000 NHHRI
18 SIRANR 32 74111 [3fidoRd  [aRig g e 1000000 1.HRT
19 SRYNR 13 7.4185 |3ifdRid [aRfey gz &= 1000000 NHHRI
20 ITRATR 24 7.5965 |3ffdeid  [aRig Ha=ur e 1000000 AR
21 SRYNR 8 7.9282 [3ifdsRd [aRfey gz &= 1000000 NHHRI
22 SIRANR 128 8.2113 [3fidoRd  [aRig Hg=ur & 1000000 1.HRT
23 SRYNR 180/33 10.1125 [3f[dpiRid  [aRie o e 1000000 NHHRI
24 SIRANR 121 10.7516 [SfidspiRid  [gRie I+ =I0r &= 1000000 1..HRT
25 SRYNR 169 11.1399 [3f[depiRd  [aRie Fgzmn & 1000000 NHHRI
26 SIRANR 20 11.2208 [SfldspiRid  [TiRie I+ =0r &= 1000000 1..HRT
27 SRYNR 108 13.1463 [3f[dpiRid  [aRie gz & 1000000 NHHRI
28 SIRANR 2 13.3323 [SfidspRid  [gRie I+ Er0r &= 1000000 1.HRT
29 SRYNR 102 13.6721 [3f[dpiRid  [aRie Fzm e 1000000 NHHRI
30 SIRANR 174 13.9552 |3{[dpid | 3ari™ 1000000 1.HRT
32 SRYNR 184/34 14.8034 [3f[depiRd  [aRie Fgzm & 1000000 NHHRI
33 SIRANR 131 14.9827 [SfidsbiRid  [TiRie I+ =I0r &= 1000000 1.HRT
35 SRYNR 109 16.2366 |3ffdepiid [aRie Fgzm & 1000000 NHHRI
36 SIRANR 18 16.2528 [sfidspiRid  [TiRie I+ =I0r &= 1000000 1.HRT
37 SRYNR 115 16.7948 |3f[depiRd  [uRie Fgzmn & 1000000 NHHRI
38 SIRANR 103 17.2317 [SfidsbRid  [gRie - a0r &= 1000000 1.HRT
39 SRYNR 25 18.3886 |3ffdepird  [uRie fgzmn & 1000000 NHHRI
40 SIRANR 106 18.7041 [SfidspRid  [TRie I+ =I0r &= 1000000 1.HRT
41 SIRYNR 126 19.06  [3ffdepiRd  [uRie Fgzm & 1000000 NHHRI
42 SIRANR 105 19.416 [SfldspRId  [TRie I+ =0r &= 1000000 1.0RT
43 SRYNR 32/245 20.225 |3ffdiyd  [gikiey FgEor &= 1000000 NHHRI
45 SIRANR 27 21.2686 |3ifdpRid |aRlY FE=w &= 1000000 1..HRT
46 SRYNR 22 21.4304 |3ffdpiyd  [gikiey Hg=or &= 1000000 NHHRI
47 SIRANR 136 21.4628 |3ifdpRid |aRlY FE=w &= 1000000 1.0RT
49 SRYNR 125 22.0048 |3ffdpiid  [gikie gz &= 1000000 NHHRI
50 SIRANR 21 22.1423 |3ifdpRd  |[aRlY FEEm &= 1000000 1..HRT
51 SRYNR 26 22.1585 |3ffdpiid  [gikiey Fg=or &= 1000000 NHHRI
52 SIRANR 1 22,296 |3ffdoRd  [aRig g & 1000000 1.HRT
53 SRYNR 4 22.6682 |3ffdpiid  [gikiey Fg=vr &= 1000000 NHHRI
54 SIRANR 23 22.6763 |3ifdpRid |aRlY FE=w &= 1000000 1.HRT
55 SRYNR 19 22.9999 |3ffdiyd  [gikiey gz &= 1000000 NHHRI
56 SIRANR 111 23.4448 |3ifdpRd  |aRlY FEF0 &= 1000000 1.HRT
57 SIRYNR 134 23.6228 |3ffdiid  [gikiey Fg=vr &= 1000000 NHHRI
58 SIRANR 6 23.7199 |3fidoRd  [aRig Hg=u &= 1000000 1.HRT
59 SIRYNR 132 24.0516 |3ffdpiid  [gikie Fg=or &= 1000000 NHHRI
60 SIRANR 9 24.1325 |3ffdoRd  [aRig g & 1000000 1.4HRT
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61 SIRANR 12 24.3104 |3ifdpRd  [aRlY FE=0 &= 1000000 1R
62 SRYNR 122 24.3913 [3ffdoild  [gikiey Rg=or &= 1000000 NHHRI
63 ITRATR 30 24.7554 |3ifdpRid  |[aRlY FEEm &= 1000000 AR
64 SRYNR 16 24.8444 |3ffdeiyd  [gikiy Fg=or &= 1000000 NHHRI
65 SIRANR 14 24.8525 |3ifdpRid |[aRlY FE=w &= 1000000 1.HRT
66 SIRYNR 120 24.901 |[3ffdpiyd  [gikiey Fg=or &= 1000000 NHHRI
67 SIRANR 10 25.2813 |3ifdpRid  [aRlY FE=m &= 1000000 1..HRT
63 SRYNR 104 25.2813 [3ffdpiid  [gikiey Rg=or &= 1000000 NHHRI
69 SIRANR 107 25.2813 |3ifdpRd  [aRlY Fg= &= 1000000 1..HRT
70 SRYNR 113 25.2813 [3ffdpiid  [gikie g=or &= 1000000 NHHRI
71 SIRANR 114 25.2813 |3ifdpRd  [aRlY FE=m &= 1000000 1.HRT
72 SRYNR 119 25.2813 [3ffdpiid  [gikiey g=or &= 1000000 NHHRI
73 SIRANR 123 25.2813 |3ifdpRid  |[aRlY FEF &= 1000000 1.HRT
74 SRYNR 17 25.2813 [3ffdpiid  [gikie gz &= 1000000 NHHRI
75 SIRANR 28 25.2813 |3ifdpRd  [aRlY FgF &= 1000000 1.HRT
76 SRYNR 29 25.2813 [3ffdpiid  [gikie Rg=or &= 1000000 NHHRI
77 ITRITR 7 25.2813 [3ffdoRd  [aRig Hg=u & 1000000 A TR
78 SRYNR 31 33.4117 |3ifdRyd  [aRfy gz &= 1000000 N ARI
80 [ERGEEIS 133/153 1.0678 |[sfidspiRid  [TiRie I+ a=rur &= 950000 RS

81 IEERES 123/168 11326 |3f[dpibd  [RIY =0 & 950000 IRMT

82 [ERECIE 171297 1173 [SfidpRid  [gRig - E0r &= 950000 §olg

83 IEREEIE 17/298 1.2296 |3f[ddpibd [URIY =0 & 950000 EES

84 [EREEIE 72 1.9416 [SfldspRid  [gRie I+ E=0r &= 950000 AR
85 IEREEIE 78/158 2.3299 [3ffdpRid [aRiY gz & 950000 EES

86 ER R 75 2427 |effdoRa  [URIY g & 950000 EES

87 IEREEIE 78 2.6211 [3MfdpRId [aRiY g & 950000 EES

88 [ERECIE 17 2.8962 |3ifdpRd |uRiy FE=w &= 950000 golg

89 [EEECIE 72/311 3.236  |3ifdoRyd [aRfy a=u &= 950000 NHHRI
90 [EREEIE 9 3.3492 [3ffdoRd  [aRig Hg=u & 950000 AR
91 IEREEIE 132/312 3.9074 |[effaoidid  [aRie = e 950000 EES

92 [ERECIE 123 3.9317 [sfidoRd  [aRig g e 950000 IRHT

93 IEREEIE 56 41097 [3ifdpRid [aRiY gz & 950000 EES

94 [ERGEEIS 19/173 4.3281 |3ifdpRd |aRlY FEFm &= 950000 RS

95 T 124 4.9672 |effdmiRa [smamig 950000 §ols

9% [EREEIE 1 5.3313 [3ffdoRd  [aRig Hg=u e 950000 A TR
97 IEREEIE 57 5.3798 |Sffamidid  [aRIe = & 950000 EES

99 [EREEIE 73 6.2293 |3ffdoRd  [aRig Hg=v & 950000 A TR
100 fh=rae 7 8.6158 |3ifdeiyd [aRfey gz &= 950000 NHHRI
101 [ERECIE 60 8.8342 |[sfidoRd  [aRig Hg=u & 950000 §olg

102 IEEERIE 114 9.1902 [3fdpRid [aRiY gz & 950000 EES

103 ER R 74 9.708 |[3ffdRa [URIY g=0r & 950000 EES

104 IEEERIE 115 10.2015 |3f[dpitd  [URIS =0T & 950000 EES

105 [EREEIE 10 10.8244 [sfidspRid  [gRie - =0r &= 950000 1.HRT
106 IERERIE 63 10.9377 |3fiddpid  [RIS gz & 950000 EES

107 [ERECIE 127 11.326 [SfldspRid  [gRie I+ E=0r &= 950000 §oig

109 [EEECIE 11 11.9004 [3f[depiRrd  [aRie Fgzm & 950000 NHHRI
110 [ERGEEIS 132 12.2644 [SfidspRid  [gRie - E=0r &= 950000 RS

111 IEREEIE 19 14.0928 |3fiddpitd  [URIY =0T & 950000 EES

112 [ERGEEIS 21175 16.6411 [sfidspiRid  [gRie I+ =10r &= 950000 RS

113 To=rae 62 17.5068 |3f[ddpitd  [URIS gz & 950000 EES

114 [ERGEEIS 125 26.0093 |3ifdpRd |aRlY FE= &= 950000 RS

115 fh=rae 1/194 27.1662 |3ffdpiid  [gikiey Fg=or &= 950000 AR
116 ISEIE 125 1.0193 [3([dPRId  |TRIY =07 & 650000 EES

117 RIS 58 1.1002 [3f[depiRrd  [aRie Fgzmn e 650000 NHHRI
118 oS 164 1.2377 |3fidpRd  [URIY =0 & 650000 qRAT
119 forars 68/212 1.2944 |[3fidpRd [URIY gz & 650000 IRTAT
120 ISEIE 107 1.4157 [3(dPRIT  |TRIY =07 & 650000 EES

121 forars 169 1.6099 [3f[dpRid |[URRiY g0 & 650000 §ols

122 oS 132 1.6503 [sfldspiRid  [TiRiel I+ aror &= 650000 A TR
123 o 74 1.6665 |3ffdepird [aRie gz & 650000 NG HRI
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124 ISEIES 65 1.7555 |3M[dpiid |TRIY HI=0m & 650000 EES

125 SR 24 1.8202 [3f[depiRrd  [uRie Fgzmn & 650000 AR
126 ISEIE 94 2,338 |3ffdoRa  [URIY E=0r & 650000 EES

127 forarg 30 2.3703 [3ifdoiia [uRiY o= & 650000 IR
128 oS 133 2.3946 |3ifdpRd |uRlY FEFw &= 650000 A TR
129 ISEIES 127 2.4431 |effdmiRa  [aRiY Fg=or e 650000 ¥ols

130 oS 139 2.7425 |3ifdpRd |aRlY FEEm &= 650000 A TR
131 forars 126 2.8557 |effdmiera  [URIS Fa=r & 650000 §ols

132 oS 119 3.0013 [3ffdoRd  [aRig Hg=u e 650000 A TR
133 SR 206 3.0742 [3ifdRyd [aRfy a=w &= 650000 NHHRI
134 [ECIE 141 3.2198 |3MdpRYd [aRTY Hg=0r &= 650000 EEE]

135 SR 160 3.2279 |3ifdsRyd [aRfey gz &= 650000 AR
136 ISEIES 66 3.5272 |[3{[AHRIG [GRIY =0T & 650000 EES

137 SR 98/249 3.5272 |3ifdRyd [aRfey a=w &= 650000 NHHRI
138 oS 1 3.5353 |sffdoid  [aRig Hg=ur e 650000 A TR
139 SR 115 3.5353 |3ifdeRyd [aRfey a=u &= 650000 NHHRI
140 oS 56 3.7052 [3fidoRd  [aRig Hg=u & 650000 A TR
141 SR 5 4.045 |3ffdoiyd  [gikiy Fg=or &= 650000 NHHRI
142 oS 49 4.2391 |3ifdpRd [aRlY FEEm &= 650000 AR
143 forars 108 4.5546 |3ffdoiia [uRiY FgEm e 650000 IR
144 oS 75 4.5789 |3ifdpRd |uRly FEFw &= 650000 AR
145 forars 92 5.1128 |[3{fqmRIq [gRie g=ur &= 650000 §ols

146 oS 50 5.1452 |3fidoRd  [aRig Hg=u e 650000 AR
147 forars 90 5.485 |[3{fqmRIq [gRiE fg=Aur &= 650000 §ols

148 oS 51 5.9218 [3ffdeRd  [aRig Hg=u & 650000 A TR
149 SR 112 6.1241 |3ifdRyd [aRfey gz &= 650000 NHHRI
150 oS 7 6.2454 |3fidoRd  [aRig Hg=o & 650000 A TR
151 SR 73 6.4396 |3ifdeiid [aRfey gz &= 650000 NHHRI
152 oS 48 6.472 |3fidoRd  [aRig Hg=u e 650000 A TR
153 SR 42 6.48 3idepiRid  [aRie gz &= 650000 NHHRI
155 oS 4 7.6855 |3ffdeid  [aRig Ha=u &= 650000 AR
156 SR 3 7.7097 |3ifdRid [aRfey a=w &= 650000 NHHRI
157 oS 103 7.7583 |sfideid  [aRig Hg=u & 650000 A TR
158 SR 2 8.1304 [3ifdRyd [aRfey gz &= 650000 NHHRI
159 (RIS 197/232 8.4945 |3fidoid  [aRig Hg=ur & 650000 1.HRI
160 forars 124 8.5511 |3{fdmRId [gRie fg=ur &= 650000 §ols

161 oS 114 8.9313 [affdoRd  [aRig Hg=u & 650000 A TR
162 forars 85 9.1497 |[effdmiRa [aRiY Fg=or e 650000 ¥ole

163 ISEIE 158 9.4005 |[3ffdoiRa [URIY fE=r & 650000 EES

164 forarg 110 9.6513 [3ifdoiid [uRieY Fg=m & 650000 IR
165 ISEIE 95 9.894 |[3ffdRa [URIY E=0r & 650000 EES

166 RIS 134 10.339 [3f[depiRd  [uRie Fgzm e 650000 NHHRI
168 oS 101 11.5444 [SfidspRid  [gRig - E=0r &= 650000 A TR
169 SR 121 12.0622 [3f[depiRd  [aRie gz & 650000 NHHRI
170 ISEIE 62 12,402 [3([dPRIT  |TRIY =07 & 650000 EES

171 forars 111 12.6123 [3f[dpRid [Tk g0 & 650000 §ols

172 [ECIE 122 12.6366 |3([dpId  |TRIY =T & 650000 EEE]

175 SR 159 13.4375 [3f[dpiRid  [uRie Fgam & 650000 NHHRI
176 oS 32 13.7773 [SfidpRId  [gRie - =r0r &= 650000 AR
179 RIS 100 14.5782 |3f[dpiRd  [uRie Fgzm & 650000 NHHRI
180 oS 204 14.6429 [SfidspRid  [TRie - =0r &= 650000 AR
181 SR 43 14.7643 |3f[dpiRid  [aRie Fgzm & 650000 N ARI
182 [ECIE 104 14.8937 [3M[dpRId  |TRIY = & 650000 EEE]

183 forars 157 15.4115 [3([dpRid  |TRIY g0 & 650000 §ols

184 oS 97 15.6703 [sfidspiRid [Tkl I+ a=Iur &= 650000 A TR
185 SR 57 16.091 [3f[depiRd  [aRie Fgzmn & 650000 NHHRI
186 oS 44 16.18  [sfldspiRid  [TiRie I+ a=rur &= 650000 A TR
188 RIS 47 17.1993 [3f[depiRd  [uRie Fgzm & 650000 NHHRI
189 oS 102 17.7252 [SfidsbRid  [gRie I+ =0r &= 650000 AR
191 o 9 18.1459 |3f[depiRd [uRie gz & 650000 NG HRI
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192 [ERIE] 105 18.2106 [SfldspiRid  [TiRie I-=I0r &= 650000 EES

195 SR 6 20.5324 |3ffdpiid  [gikie Rg=or &= 650000 NHHRI
196 oS 136 20.6295 |3ifdpRid |aRlY FE= &= 650000 AR
197 RIS 117 21.2201 [3ffdpiyd  [gikiey Fg=or &= 650000 NHHRI
198 oS 25 21.2524 |3ifdpRd  |[aRlY FEFm &= 650000 A TR
199 SR 16 21.6731 [3ffdiid  [gikiy Fg=or &= 650000 NHHRI
200 oS 98 21.6731 |3ifdpRd  [aRlY FE=0 &= 650000 A TR
201 SR 99 22.8543 |3ffdpiid  [gikiey Fg=or &= 650000 NHHRI
202 oS 45 24.7473 |3ifdpRd  |[aRlY FEE0 &= 650000 A TR
203 SR 113 24.7878 |3ffdiid  [gikiey gz &= 650000 NHHRI
204 oS 52 24.9334 |3ifdpRd  [aRlY FEEw &= 650000 AR
205 SR 116 25.2813 [3ffdpiid  [gikiey g=or &= 650000 NHHRI
206 oS 46 25.2813 |3ifdpRd  [aRlY FEF &= 650000 A TR
207 SRIAIR 814 1.0436 |3f[ddpibd [ORIY =0 & 4500000 IRMT
209 SICER 945 1.0678 [3MAPNId |TRIY =0T & 2500000 EEE

210 SIICTAR 437/2158  [1.0759 |3ffideiad [GRIY Fa=ur &= 13500000 EES

212 SIIETER 149 1.2458 [SfldspiRid  [TiRie I+ =0r &= 4500000 1.HRT
213 SIICTHR 929 1715 |3f[ddid  [URIS =0 & 2500000 EES
214 SIIETER 597/1501 1.7231 [SfldspRid  [gRie - E=or &= 4500000 R gipA
215 SR 787/962 1.7393 [sfidiia [Ty e &= 9000000 IRTAT
216 SIIETER 198 1.7474 |3{[dHRd 3O 4500000 1.HRT
217 SIICTHR 44311012  [1.7798 |3ffideia [aRIY Fa=ur &= 13500000 EES

218 SIER 80/2190 1.8364 |3M[APNId |TRIY I & 4500000 EEE

219 SR 199 1.9416 [3f[dbRId [Smarig 4500000 NHHRI
220 SIIETER 81/1064 1.9416 [SfldspRid  [TRie - a=r0r &= 4500000 R gipA
221 SIICTAR 78211717  [1.9577 |3ffdeid [aRIY a=ur &= 13500000 EES

222 SIIETER 890 1.9901 |[3[dpRd  [URIY =0 & 2500000 IRTAT
224 SIICTHR 102 2.0872 [3ifdpRid [aRiY gz & 4500000 EES

225 SICER 440 21034 |G 3O~ 13500000 EEE

226 SR 157 2.1034 |[3ffdoiyd  [gikiy Fg=or &= 4500000 NHHRI
227 SICER 127/1357  [2.1843 |3fiddbiid  [ORIY I &F 4500000 EEE
228 SR 1491073  [2.427 [3ffdeya [oRTY a=0r &= 4500000 N AR
229 SIIETER 812/955 2.427 |3MdHRIT  [aRiY g0 & 4500000 IRTAT
230 SR 916/958 2.427 |3ifdoiia [uRiY FgEm ax 2500000 IRTAT
231 SIIETER 953 2.5159 |3ifdpRd [aRly FE=m &= 2500000 1.HRI
232 SRIAIR 809 2.6049 [3ffdpRId [aRIY gz & 4500000 IRMT
233 SIIETER 911 2,613 |3ifdpRd |uRly FEEm &= 4500000 1.HRT
234 SR 4 2.6535 |[3ffdiid  [gikiey HgEor &= 4500000 AR
235 SIIETER 109 2.6939 |3MdBRId [TRIY g0 & 4500000 IRTAHT
236 SR 523/1030 [2.791 [3ffdoiia [URIY FHa=ur &= 4500000 R giwp
237 SICER 95/2175 2.8072 |[3ffdmRa [URIY FE=0r & 2500000 EEE

238 ST 448 2.88 SfdpRId  [aRTY =0 & 9000000 EES

239 SIIETER 148/1072  [2.9124 |[3fidhRId [aRIe g0 & 4500000 1.HRT
240 SRIAIR 86 2.9852 [3ffdpRId [aRiY Fg=um & 4500000 IRMT
241 SICTER 829 2.9933 |[3ffdmRa [URIY E=r & 4500000 EEE

242 SRIAIR 804 3.0742 |[sffaeidid  [aRie = e 4500000 IRMT
243 SICTER 97/2183 3.2683 |[3{[AHRIT [ORIY =0T &= 4500000 EEE

244 SIICTHR 921 3.8103 |[sffamidd  [aRie = & 2500000 EES

245 SICER 152 3.8832 |[3{[AHRIT [TRIY =0T &= 4500000 EEE

246 SR 818/956 3.8832 [sffqeia [uRig Hg=or e 4500000 IRTAT
247 SIIETER 884 3.956 |sfideRd  [aRig Hg=u e 2500000 1.HRT
248 SR 778 3.9883 |[sffamidid [aRIe = & 9000000 EES

249 SIIETER 943 4.1097 |3ifdpRd |aRly FEEm &= 2500000 1.HRT
250 SR 860 4142  |3ffdoiyd  [gikiy FgEor &= 2500000 AR
251 SIIETER 948 4.2068 |3MdHRId  [TRIY g0 & 2500000 IRTAT
252 SIICTHR 119 4.4899 [3ffdpRId [aRiY gz & 4500000 EES

253 SIIETER 76 4.5142 |3ifdpRd |aRlY FEEm &= 4500000 A1.HRT
254 SRIAIR 825 4.6113 [3ffdpRid [aRiY gz & 4500000 IRMT
255 SICER 116 4.6274 |[3ffdoRa  [URIY FE=0T & 4500000 EEE

256 SR 99 4,676 |3MfdpRId [aRiY gz e 4500000 EES
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257 SIER 97 4.7488 |[3ffdmiRa  [URIY f=g=0r & 4500000 EEE

258 SIICTHR 789 4.9187 [3ffdpRid [aRiY gz & 9000000 EES

259 SIIETER 815 4.9349 |3MdHRIT [TRIY g0 & 4500000 IRTT
260 SR 157/1356  |4.9753 [3ffdeiyd [aRIY a=0r & 4500000 NHHRI
261 SIER 935 5.3555 |3{[dHRIq [TRIY =0T &= 2500000 EEE

262 SR 89/2164 5.5497 |effaoidid  [aRIe = & 4500000 EES

263 SICTER 97/2181 5.8005 |[3{[AHRIT [TRIY =0T &= 4500000 EEE
264 ST 89/2165 5.8409 |[effamidid  [aRIe = & 4500000 EES

265 SIIETER 148 5.9057 |3ffdeRd  [aRig Hg=ur e 4500000 1..HRT
266 SR 70/2167 5.9946 |3ifdRid [aRfey gz &= 4500000 NHHRI
267 SICER 120 6.4315 |[3{[AHRIT [gRIY =0T & 4500000 EEE

268 SIICTHR 97/2182 6.4881 |Sffamidd [aRIe = & 4500000 EES

269 SIAETER 152/1069  [6.8117 [3fidhRId [TRIe Fg=or &= 4500000 R gipA
270 ST 894 6.8765 |Sffaoidid [TRIY Fg=om & 2500000 EES

271 SICER 94/2171 6.925 |[3{[AHRIT [gRIY =0T & 4500000 EEE

272 SIICTAR 907 7.0302 |[sffaoidid  [aRie = e 2500000 EES

273 SICER 439/2156  |7.1353 |3f[ddiRrd |URIE FI=00 &5 13500000 EEE

274 SIICTHR 81/2180 7.289 |Sffamidid  [aRie = e 4500000 EES

275 SIIETER 938 7.6612 [3fiahRid  [aRie g & 2500000 IRTT
276 SIICTHR 782 7.6935 |Sffaoidid  [aRie = & 13500000 EES

277 SIIETER 939 7.734  [SfidBRid  [aRie g & 2500000 IRTT
278 SRIAIR 818 7.7502 |effaoidid  [aRie = e 4500000 IRMT
279 SIIETER 817 7.823  |sfidoRd  [aRig Hg=u e 4500000 1.HRT
280 ST 919 8.0333 |[sffamidd  [aRIe = & 2500000 EES

281 SIIETER 845 8.0738 |3ffdeid  [aRig Ha=v &= 4500000 1.HRI
282 SIICTAR 780 8.09 SfdpRId  [aRTY =0 & 13500000 EES

283 SICER 99/2176 8.4945 |3{[AHRIT [TRIY =0T & 4500000 EEE

284 SR 820 8.5592 |3ifdeiyd [aRfey gz &= 4500000 NHHRI
285 SICER 94 8.6805 |[3{[AHRIq [TRIY =0T &= 4500000 EEE

286 SIICTHR 926 8.6886 |Sffaeidid |TRIY Fg=ur & 2500000 EES

287 SIIETER 898 8.996 |sffdeRid [aRig HI=u & 2500000 1.HRT
288 ST 89 9.0203 [3ffdpRId [aRiY g & 4500000 EES

289 SIER 142 9.2064 |[3ffdmRa [URIY E=0r & 4500000 EEE

290 SR 801 9.3682 |[3ffdpiid  [gikie g=vm &= 4500000 AR
291 SICTER 79/2163 9.3682 |3 [URIY fa=0r & 4500000 EEE
292 SRIAIR 827 9.6918 [3ifdpRId [aRIY Fg=um & 4500000 IRMT
293 SICER 110 9.7484 |[3ffdmRa [URIY fg=0r & 4500000 EEE

294 ST 934 10.3148 [3f[dpig  [URIY gz & 2500000 EES

295 SIIETER 13 10.5736 [SfldspiRid  [gRie - =0r &= 4500000 1.HRT
296 SR 769 10.5736 |3ffdepird  [aRie Fgzm & 9000000 NHHRI
297 SIIETER 156 11.0509 [SfidsbiRid  [TiRie - a=Iur &= 4500000 1.HRT
298 ST 16 11.5849 [3fiddpitd  [URIY gz & 4500000 EES

299 SIER 885 12,046 [3MAPNRIT |TRIY =0T & 2500000 EEE

300 SR 423 12.3372 [3([dBRId |[Smarig 4500000 NHHRI
301 SICTER 446 12,491 [3([dPRId  |TRIY =07 & 13500000 EEE

302 SR 142/1065  [13.4051 [3ffddiyd [aRTY a=0r & 4500000 R giwp
303 SICTER 831 13.4618 [3M[APNId  |TRIY =0T & 4500000 EEE

304 SR 70 13.5346 |3f[depiRid  [aRie Fgzm & 4500000 NHHRI
305 SICER 79 13.5588 |3M[ApIId |TRIY HI=0T & 4500000 EEE

306 SR 857 13.7935 |3f[depid  [aRie Fgzm e 2500000 NHHRI
307 SICER 887 14.0442 [3AHRIT  |TRIY =07 & 2500000 EEE

308 SR 14 14.2789 |3fiddpid  [URIY gz & 4500000 EES

309 SICER 917 14.3355 |3([AHNId  |TRIY =07 & 2500000 EEE

310 SR 946 14.3759 |3f[dpiRid  [aRie Fgzm & 2500000 NHHRI
311 SIIETER 147/1071 14.7238 [SfldspRid  [gRie - =0r &= 4500000 1.HRT
312 SR 951 14.7643 |3f[dpRid  [aRiY gz & 2500000 N ARI
313 SICER 447/2157 15.3225 |3{[AHNIT  |TRIY =07 & 13500000 EEE

314 ST 96 15.3872 |3f[ddpitd  [URIS gz & 4500000 EES

315 SIIETER 155 15.9697 [sfldsbiRid  [TiRiel I-=I0r &= 4500000 1.HRT
316 SR 839 15.9778 |3fiddpitd  [URiS Mgz & 4500000 EES
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317 SIIETER 851 16.4874 [SfldspRid  [TRie I-=I0r &= 4500000 1R
318 SR 928 16.9 3idepiRId  [aRie gz &= 2500000 AR
319 SICER 940 16.9162 [3MAPNIT  |TRIY =0T & 2500000 EEE
320 ST 895 17.2964 |3f[ddpitd  [URIY =0T & 2500000 EES
321 SIIETER 900 17.3126 [SfldsbRid  [gRie - E=0r &= 2500000 1.HRT
322 SR 847 17.6928 |3fiddpitd  [URIY Tz & 4500000 EES
323 SICTER 843 17.7252 |3AHRIT  |TRIY =07 & 4500000 EEE
324 SR 63 17.8627 |3f[debiRd  [uRie gz & 4500000 NHHRI
325 SIER 896 18.2591 |3([AHNId  |TRIY =0T & 2500000 EEE
326 SR 128 18.3643 |3f[depiRd  [uRie Fgzm & 4500000 NHHRI
327 SICER 897 18.5665 |3M[APIId |TIRIY =0T & 2500000 EEE
328 SR 794 18.5908 |3ffdepiRrd  [uRie Fgzmn & 4500000 NHHRI
329 SIAETER 10 18.7203 [SfldspiRid  [TRie I+ =r0r &= 4500000 1.HRT
330 ST 798 18.8416 |3f[ddbidd  [URIY T=0T & 4500000 EES
331 SIIETER 12 19.0115 [SfldsbRid  [gRie I+ =0r &= 4500000 1.HRT
332 SR 889 19.1814 [3f[dpiRd  [aRie Fgzm & 2500000 NHHRI
333 SIIETER 7 19.2866 [SfldsbiRid  [TiRie I+ =I0r &= 4500000 1.HRT
334 SR 5 19.3675 |3ffdepiRid  [aRie Fgzm & 4500000 N ARI
335 SICER 844 19.3756 |3M[APNId  |TRIY =0T & 4500000 EEE
336 SR 11 19.3998 |3f[depiRrd [uRie Fgzm & 4500000 NHHRI
337 SIIETER 550 19.4726 [SfldspiRid  [Rie - E=0r &= 4500000 1.HRT
338 SIICTHR 114 19.8043 [3f[ddpitd RIS gz & 4500000 EES
339 SIER 838 25.2813 |3  [URIY g=0r & 4500000 EEE
340 ST 840 25.2813 [3ifdpRId  [TRIY Fg=om & 4500000 EES
341 SICTER 841 25.2813 |3  [URIY g=0r & 4500000 EEE
342 SIICTAR 842 25.2813 [3ifdpRId  [TRIY Fg=om & 4500000 EES
343 SICER 846 25.2813 |3  [URIY g=0r & 4500000 EEE
344 SIICTHR 849 25.2813 [3ifdpRId [TRIY Fg=0m & 4500000 EES
345 SIIETER 850 25.2813 |3ifdpRid  [aRlY FE=m &= 4500000 A1.HRT
346 SIICTHR 853 25.2813 [3ifdpRId  [TRIY Fg=om & 4500000 EES
347 SIIETER 768 25.2813 |3ifdpRid  [aRlY FE= &= 9000000 1.HRT
348 ST 854 25.2813 [3ifdpRId  [TRIY Fg=om & 2500000 EES
349 SIIETER 927 25.2813 |3ifdpRd  [aRlY FE=m &= 2500000 1.HRT
350 SR 903 25.2813 [3ffdpiid  [gikie g=on &= 2500000 N ARI
351 SICTER 888 26.2682 |3ffdmiRia  [URIY Fa=0r & 2500000 EEE
352 SR 143/1066  [35.6203 [3ffddiid [aRIY a0 & 4500000 R giwp
353 RERIDT TTid 51/437 1.1811 |3ifdpid  [aRie g=or &= 1180000 A TR
354 RERIPT 7T 14 1.1892 [3ffdid [Ty Iz &= 600000 NHHRI
355 RERIDT TTid 711412 1.4966 |3ffdopiid  [aRig Ha=ur & 600000 A1.HRT
356 [ECINEAKIE] 70/90 1.5209 [3ffadiaa [aRiS o= & 600000 EES
357 RERIDT TTid 58/118 1.9254 |3ffdiid  [aRig Hg=or & 1180000 A TR
358 RERIPT T 65 1.9416 [3ffdoid  [gRIY Iz &= 600000 NHHRI
359 RERIDT TTid 5 2.0305 [3f[depRId [Ty - =0r &= 600000 A TR
360 ESCINEAKIE] 72 2.0467 [3ffdeiad  |aRIY a0 & 600000 EES
361 RERIDT TTid 69 2.0872 [3f[depRId [Ty - =0m &= 600000 A TR
362 ECINEAKIE] 32 2.1357 |3ffdmid  |[aRIY a0 & 600000 EES
363 RERIDT TTid 37177 2.3137 [Sf[deRId [Ty -0 &= 600000 IRHT
364 RERIPT TTd 1 2.3299 [3fidpi¥a [aRiY gz & 940000 NHHRI
365 RERIDT TTid 4 2.427 |3ifdpRd  |aRiy FEE &= 600000 AR
366 RERIPT 7T 59/409 2.524 |3ffqiya  [gikiey FgEor &= 600000 NHHRI
367 RERIDT TTid 10/427 2.5483 [Sf[deRId [Ty - =0r &= 600000 AR
368 RERIPT 7T 44 2.702 |[3ffdifa  [gikiy g &= 600000 NHHRI
369 RERIDT TTid Jul-80 2.88 |3ifdoid  [aRiy Hg=v & 600000 A TR
370 RERIPT 7T 50 3.147 [3ifdeRyd [aRfy a=w &= 1180000 NHHRI
371 RERIDT TTid 48/210 3.2279 [Sf[dRId [Ty FE=0r &= 1180000 1.HRT
372 [ESCINEAKIE] 09-Jan 3.236 |Sffaoitid  |[TRIY g & 600000 EES
373 RERIDT TTid 60 3.244 |3ifdpRd [aRlY FEEm &= 600000 A TR
374 RERIPT 7T 47/211 3.2845 [3fidpidd  [uRiY gz & 750000 NHHRI
375 RERIDT TTid 16 3.8832 [Sf[deRId [Ty - =0r &= 600000 AR
376 RERIPT T 7 4.498 [3fidopida [aRiy gz & 600000 NG HRI




YfYy &7 faaror

®H. | (H/ERIEANT S | @@, | &T%d lamﬂi“”w '”a%&a!””‘[’ IRfga/diwdier | Yot e
|rH)

377 RERID] TTid 52 4.8297 |Sf[dRId [Ty =07 &= 1180000 AR
378 RERIPT TTd 62 5.0481 [3fidmitad  [URIY Fg=ur &= 600000 NHHRI
379 RERIDT TTid 59 5.5254 |3ffdpRid |aRly Fg= &= 1180000 A TR
380 REIRIDT TTid 38 6.1241 |3f[ddRIq  [gRIY =07 &= 600000 IRMT
381 TRARIDT T 43 6.1322 |3ffddiRa  [TRIY I & 750000 EES

382 ERERIPT TTd 12/101 6.472 |3ffdpiya [gikiy g &= 600000 NHHRI
383 RERIDT TTid 2 6.925 |3ifdpRid |aRiy FE= &= 750000 A TR
384 RERIPT TTd 66 7.0302 [3fidpi¥a  [aRiY gz & 600000 NHHRI
385 RERIDT TTid 59/119 7.3619 [SfldeRId [Ty - =0r &= 940000 A TR
386 RERIPT TTd 11/434 7.4428 [3fidpi¥d  [aRiY gz & 600000 NHHRI
387 TRARIDT T 31 8.3974 |3 [URIY I & 600000 EES

388 RERIPT 7T 10/431 9.4329 [3fidpi¥d  [aRiY gz & 600000 AR
389 TRARIDT T 28 9.8212 |3ffdmiRia  [URIY [T & 600000 EES

390 RERIPT 7T 47 10.5655 |3fdpitid  [TRIY = & 750000 NHHRI
391 RERIDT TTid 12 11.0267 |3ffdpRid  [aRIY gz & 600000 A TR
392 RERIPT 7T 48 11.326 |3 [URIY a0 &= 1180000 NHHRI
393 RERIDT TTid 10 11.6415 |3ffdpRid  [aRIY gz & 600000 AR
394 [ESCINEAKIE] 30 15.2577 |3fdmRId  |GRIY a0 & 600000 EES

395 RERIDT TTid 71 16.0101 |3ffdpRid  [aRIY gz & 600000 A TR
396 RERIPT TTd 70 16.0587 [3fidopidra  [aRIY gz & 600000 NHHRI
397 RERIDT TTid 11 16.3742 |3ffdpRid  [aRIY gz & 600000 AR
398 RERIPT 7T 6 18.4776 [3fdpi¥a [Ty gz & 750000 NHHRI
399 RERIDT TTid 27 18.7364 |3ffdpRid  [aRIY gz & 600000 AR
400 RERIPT 7T 51 19.6021 [3fidpidd [Ty gz & 1180000 NHHRI
401 RERIDT TTid 44/94 20.8641 |3[dpRd  [URIY Iz & 600000 1..HRT
402 RERIPT 7T 45 24.1163 [3ffddpiRyd  [aRTY =0 & 600000 NHHRI
403 I 20/463 1.0031 [sfidspRid  [TiRie - a=ror &= 1250000 1.HRT
404 ESIER 79 1.1973 [3f[depiRd  [aRie Fgzm & 1960000 NHHRI
405 I 286 1.2863 [SfldspiRid  [TiRie I+ =0r &= 1250000 1.HRT
406 ESIER 73 1.2944 [3f[dpiRd  [uRie Fgzm & 1960000 NHHRI
407 ESEI 62 1.2944 [SfidspRId  [giRie I+ E=0m &= 1250000 AR
408 ESIER 499/440 1.4847 [3f[dpiRd [uRie Fgzm & 1960000 NHHRI
409 I 479/438 1.5189 [sfidspiRid  [TiRiel I+ a=Iur &= 1250000 1.HRT
410 ESIER 354 1.6018 [3ffdepiRrd  [uRife gz & 1250000 NHHRI
411 ESEI 34 1.6099 [sfidspiRid  [TiRie I+ a=rur &= 1250000 A TR
412 ESIER 447/522 1.9011 [3f[depiRrd  [uRie gz & 1250000 NHHRI
413 ESEI 427 1.9577 |[SfidsbiRid  [ORie I+ a=ror &= 1250000 A TR
414 ESIER 419 2.0386 |[3ffdiid  [gikiey Fg=or &= 1250000 NHHRI
415 ESEI 374 2.1843 |3ifdpRd |uRly FEFw &= 1250000 AR
416 ESIER 31 2.4431 |3ffdiyd  [gikiy Fg=or &= 1250000 NHHRI
417 I 483/442 2.4654 |3ifdpRd |aRiy FEEm &= 1960000 1.HRT
418 ESIER 430/475 2.5321 |[3ffdpifd  [gikiy Rg=or &= 1960000 NHHRI
419 ESEI 32 2.5402 |3ifdpRd |aRly FEFm &= 1250000 A TR
420 ESIER 78 3.236  |3ifdoRyd [aRfy a=u &= 1250000 NHHRI
421 ESEI 45 3.2602 [3ffdoRd  [aRig HI=o & 1250000 A TR
422 ESIER 509/78 3.3887 [3ifdeyd [aRRfey gz &= 1250000 NHHRI
423 ESEI 4 3.5272 |3ffdoRd  [aRig Hg=o e 1250000 A TR
424 ESIER 406 3.5596 |3ifdeiid [aRfey gz &= 1250000 NHHRI
425 I 449/494 4.3281 3R |uRlY FEFm &= 1250000 1.HRT
426 ESKIH 10 43362 |3ffdpRId [aRIY g ax 1250000 IRMT
427 ESEI 1 4.4009 |3ifdpRd |aRlY FEFw &= 1960000 AR
428 ESIER 2 4.6922 |3ffdeiyd  [gikiy Fg=or &= 1960000 NHHRI
429 I 791467 4.7083 |3ifdpRd |uRly FEFw &= 1960000 1.HRT
430 ESIER 51 4.9268 |3ffdsiyd [gikiy Fg=or &= 1250000 NHHRI
431 ESEI 42 4.9753 |3ifdpRd |aRlY FEEm &= 1250000 A TR
432 ESIER 501/442 5.0858 |3ifdeiid [aRfey gz &= 1960000 NHHRI
433 ESEI 53 5.1533 |3fidoRd  [aRig Hg=u e 1250000 A TR
434 ESIER 491/78 5.4198 |3ifdRyd [aRfey gz &= 1960000 NHHRI
435 ESEI 76 5.5659 |3ffdeRd  [aRig Ha=u e 1250000 AR
436 ESIER 43 5.6144 |3ifdeRyd [aRfy gz &= 1250000 NG HRI
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437 SIS 70/464 6.1079 [sffdoRd  [aRig Hg=ur e 1250000 1R
438 ESIER 395 6.1564 |3ifdeiRid [aRfey gz &= 1250000 NHHRI
439 ESEI 38 6.3911 |3fidoRd  [aRig Hg=or e 1250000 AR
440 ESIER 66 6.7551 |3ifdeiid [aRfey gz &= 1250000 NHHRI
441 ESEI 63 6.7794 |3fidoRd  [aRig Hg=ur & 1250000 A TR
442 ESIER 418 6.9574 |3ifdRid [aRfey gz &= 1250000 NHHRI
443 ESEI 511/78 7.1595 |3fideRd  [aRig Ha=ur e 1250000 A TR
444 ESIER 481/440 7.6656 |3ifdeiid [aRfey gz &= 1250000 NHHRI
445 ESEI 254 7.7583 |sfideRd  [aRig Hg=u & 1250000 A TR
446 ESIER 473/431 7.8109 [3ifdsRyd [aRfey gz &= 1250000 NHHRI
447 I 489/77 7.8829 |3fideRid  [aRig Hg=u & 1960000 1.HRT
448 ESIER 410 7.9929 [3ifdRd [aRfe gz &= 1250000 NHHRI
449 ESEI 48 8.2356 |3ffdoid  [aRig Hg=u & 1250000 AR
450 ESIER 19 8.4945 |3ifdRd [aRfey gz &= 1960000 NHHRI
451 I 497/438 8.5118 [3fidoid  [aRig Hg=v & 1960000 1.HRT
452 ESIER 11 8.543 |3ifdepyd [uRfey gz &= 1250000 NHHRI
453 ESEI 37 8.8181 |[3fidoid  [aRig Hg=vr & 1250000 A TR
454 ESIER 198 8.8423 |3ifdsRyd [aRfey gz &= 1250000 NHHRI
455 ESEI 409 9.0527 |3ifdpRid |aRiy FE= &= 1250000 A TR
456 ESIER 450 9.4895 |3ffdsiid  [gikiey Rg=vm &= 1250000 NHHRI
457 I 449 9.9426 |3ifdpRd |uRlY FE=w &= 1250000 1.HRT
458 ESIER 485/445 10.0532 [3f[depiRrd  [uRie Fgzm & 1960000 NHHRI
459 ESEI 5 10.0559 [sfidsbiRid  [TiRie I+ a=ror &= 1250000 AR
460 ESIER 19/460 10.2096 |3f[depiRd [aRie Fgzm & 1960000 NHHRI
461 ESEI 74 10.3471 [SfidpRId  [gRig - E=0r &= 1250000 A TR
462 ESIER 69 10.6141 [3f[dpiRid  [aRie gz e 1960000 NHHRI
463 I 256 11.4231 [Sf[dpRId  [gRie - E0r &= 1250000 1.HRT
465 ESIER 393 11.9975 [3f[depiRd  [aRie Fgzm & 1250000 NHHRI
466 I 503/445 12.3924 [SfidsbRid  [TiRie I+ E=0r &= 1250000 1.HRT
467 ESIER 7 12.6204 [3f[depiRd  [aRie Fzm & 1960000 NHHRI
468 ESEI 405 12.9359 [sfidspiRid  [TiRie I+ a=rur &= 1250000 AR
469 ESIER 69/465 12.9683 |3f[depiRd  [aRie gz & 1960000 NHHRI
470 I 423 13.2272 [SfidbRId  [gRie - E=0r &= 1250000 1.HRT
471 ESIER 487/446 14.0971 [3f[depiRd  [aRie Fgzm & 1960000 NHHRI
472 I 493/355 14.171 [SfidpRd  [gRie - E=0r &= 1250000 1..HRT
473 ESIER 39 15.4519 [3f[depiid  [aRie Fgzm & 1250000 NHHRI
474 ESEI 70/551 16.18  [sfldspRid  [TiRie I+ a=r0r &= 1960000 A TR
475 ESIER 79/554 16.18  [3f[depiRd  [uRie Fgzmn & 1250000 NHHRI
476 I 396 16.2447 [SfidspRid  [gRig - E=0r &= 1250000 1.HRT
477 ESIER 439 16.3822 [3f[depiRd  [aRie gz & 1250000 NHHRI
478 I 411 16.9971 [sfidspiRid  [TRie I+ =I0r &= 1250000 1.HRT
479 ESIER 44 17.7899 |3f[debiRd [uRie Fgzmn & 1250000 NHHRI
480 I 424 18.0973 [sfidspRid  [TiRiel I+ a=Iur &= 1250000 1.HRT
481 ESIER 9 18.251 [3f[depiRd  [uRie Fgzmn & 1250000 NHHRI
482 ESEI 20 18.2753 [sfldspiRid  [TiRie I+ a=rur &= 1960000 A TR
483 ESIER 35 19.3432 [3f[dpiRd  [uRie gz & 1250000 NHHRI
484 I 414 19.4079 [SfidspiRid  [TiRie - =rur &= 1250000 1..HRT
485 ESIER 46 19.4807 [3f[depiRd  [aRie Fgzm & 1250000 NHHRI
486 I 444 19.8205 [SfidsbiRid  [TiRie I+ =0r &= 1250000 1.HRT
487 ESIER 50 20.0794 |3ffdpiyd  [gikiey Fg=or &= 1250000 NHHRI
488 I 403 21.1068 |3ifdpRid |[aRlY FE= &= 1250000 1.HRT
489 ESIER 65 21.5032 [3ffdpiid  [gikie Fg=or &= 1250000 NHHRI
490 ESEI 416 21.7055 |3ifdpRid  |[aRlY FE= &= 1250000 A TR
491 ESIER 8/459 22.0695 |3ffdepiid  [gikie Fg=or &= 1960000 NHHRI
492 ESEI 23 22.2475 |3ifdpRd  |aRlY FEE0 &= 1250000 A TR
493 ESIER 398 22.5873 |3ffdpiid  [gikie Hg=on &= 1250000 NHHRI
494 I 731466 23.097 |3ifdpRd |aRly FEEm &= 1960000 1.HRT
495 ESIER 417 24.0273 |3ffdpiyd  [gikiey Fg=or &= 1250000 NHHRI
496 I 412 24.1487 |3ifdpRd  [aRlY FEF0 &= 1250000 1.HRT
497 ESIER 49 24.2943 |3ffdsiyd  [gikiy g &= 1250000 NG HRI
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498 ESE 6 24.723 |3ifdoRd  [aRig Hg=o e 1250000 AR
499 ESIER 13 24.9172 |3ffdpiyd  [gikiy Fg=or &= 1250000 NHHRI
500 ESEI 75 25.0466 |3ifdpRid |aRlY FE= &= 1250000 AR
501 ESIER 67 25.0709 |3ffdpiyd  [gikie Rg=vr &= 1250000 NHHRI
502 ESEI 400 25.1195 |3ifdpRid  [aRly Fg= &= 1250000 A TR
503 ESIER 47 25.1275 |3ffdiid  [gikie Fg=or &= 1250000 NHHRI
504 I 399 25.2813 |3ifdpRid  [aRlY Fg= &= 1250000 1..HRT
505 ESIER 404 25.2813 [3ffdpiid  [gikiey Rg=or &= 1250000 NHHRI
506 ESEI 407 25.2813 |3ifdpRd  [aRlY Fg= &= 1250000 A TR
507 ESIER 408 25.2813 [3ffdpiid  [gikie g=or &= 1250000 NHHRI
508 I 413 25.2813 |3ifdpRd  [aRlY FE=m &= 1250000 1.HRT
509 ESIER 415 25.2813 [3ffdpiid  [gikiey g=or &= 1250000 NHHRI
510 ESEI 68 25.2813 |3ifdpRd  [aRlY FEF &= 1250000 AR
511 TR 51 1.0112  [3f[depiRrd  [uRie Fgzmn & 1000000 NHHRI
512 TR 140 1.1002 [SfidspRid  [TiRie I+ a=ror &= 1000000 1.HRT
513 TR 70 1.1649 [3f[depiRd [uRie Fgzm & 1000000 NHHRI
514 TR 208/132 1.188  [sfldspiRid  [TiRie I-a=rur &= 1000000 1.HRT
515 TR 180 1.2054 [3f[depiRrd  [aRie Fgam e 1000000 EES)

516 TR 132/192 1.2135 [SfldspRid  [gRie - E=0r &= 1000000 1.HRT
517 TR 19 1.2135 [3f[depiRrd  [aRie Fgzm e 1000000 NHHRI
518 TR 85/329 1.2135 [SfidspRid  [giRie 1+ aror &= 1000000 1.HRT
519 TR 161 1.3348 [3f[depiRrd  [uRie Fgzmn & 1000000 NHHRI
520 TAUR 18 1.3753 [sfldsbRid  [OiRie - aror &= 1000000 A TR
521 TR 182 1.44 3idepiRid  [aRie gz &= 1000000 IRTAT
522 TR 154 1.4804 [SfldspiRid  [TiRiel I+ a=ror &= 1000000 1..HRT
523 TR 75 1.5694 |3ffdepiRd [uRie Fgzm & 1000000 NHHRI
524 TAURR 83 1.618  [sfldspiid  [TiRie I+ a=ror &= 1000000 A TR
525 TR 41 1.7636 | 3ffdepiRd  [aRie Fgzm & 1000000 NHHRI
526 TAUR 8 1.7636 [sfldspiRid  [TRie I+ =0r &= 1000000 A TR
527 TR 167/195 1.8445 [3f[dpiRd [uRie Fgzm & 1000000 NHHRI
528 TR 166 1.8849 [sfldspiRid  [TiRie I+ =rur &= 1000000 1.HRT
529 TR 30 1.9739 [3f[depiRd  [uRie Fgzm e 1000000 NHHRI
530 TAUR 177 2,071 |3ifdpRd [uRly FEEm &= 1000000 A TR
531 TR 239/139 21227 |[3ffdoiyd  [gikiy Fg=or &= 1000000 NHHRI
532 TR 163 2.2166 |3ifdpRid |aRlY FE=w &= 1000000 1..HRT
533 TR 81 2.4755 |3ffdeiid  [gikiey Fg=or &= 1000000 NHHRI
534 TR 133/193 2.7182 |3ifdpRd |aRly FEFw &= 1000000 1.HRT
535 TR 96 2.7425 |3ffdeiyd  [gikiy Fg=or &= 1000000 NHHRI
536 TAUR 39 2.7991 |3ifdpRd [aRly FEEm &= 1000000 AR
537 TAANR 131 2.8315 |[3ffdopiyd  [gikiy Hg=or &= 1000000 NHHRI
538 TR 204/133 2.8596 |3ifdpRid |uRiy FE=w &= 1000000 1.HRT
539 TAANR 138/282 3.1227 |3ifdsRyd [aRfey a=w &= 1000000 NHHRI
540 TR 92 3.3169 |3fidoRd  [aRig Hg=u & 1000000 1.HRT
541 TR 86 3.3816 |3ifdsiyd [aRfey gz &= 1000000 NHHRI
542 TAUR 52 3.422 [efidoRd  [aRig g e 1000000 A TR
543 TR 82 3.4787 |3ifdRyd [aRfey gz &= 1000000 NHHRI
544 TR 225/107 3.5887 |sffdeRd  [aRfg Hg=u & 1000000 1.HRI
545 TR 176/206 3.6809 [3ifdeiyd [aRfey gz &= 1000000 EES)

546 TAURR 27 3.778 |sfidoRd  [aRig Hg=ur e 1000000 A TR
547 TR 176 4.0369 |[3ffdspiyd  [gikiey Hg=vr &= 1000000 EES

548 TR 66 4.0611 | 3ifdpRd |aRlY FEFm &= 1000000 1.HRT
549 TR 60 4.0935 |3ffdeifd  [gikie Fg=or &= 1000000 NHHRI
550 TAUR 3 4.5789 |3ifdpRid |uRly FE=w &= 1000000 A TR
551 TR 49 4.5951 |3ffdiyd  [gikiey Fg=or &= 1000000 NHHRI
552 TR 241/214 4.604 3R |uRlY FEEw &= 1000000 1.HRT
553 TR 97 4.7488 |3ffdsiyd  [gikiy Hg=or &= 1000000 NHHRI
554 TR 142 5.0481 [3fidoRd  [aRig Hg=u &= 1000000 1.HRT
555 TAANR 231/67 5.1368 |3ifdeiid [aRfey gz &= 1000000 NHHRI
556 TAUR 102 51776 |3fidoRd  [aRig Hg=o e 1000000 AR
557 TR 237/139 5.2335 |3ifdeRyd [aRfy gz &= 1000000 NG HRI
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558 TAURR 153 5.2989 |[sffdeRd [uRig g=u &= 1000000 AR
559 TR 136 5.3151 |3ifdRyd [aRfy gz &= 1000000 NHHRI
560 TAURR 87 5.5901 |3ffdepid  [aRig Hg=ur & 1000000 AR
561 TAANR 135 5.7034 |3ifdeRyd [aRfey gz &= 1000000 NHHRI
562 TAUR 108 5.7439 |3fidoRd  [aRig g e 1000000 A TR
563 TR 134 5.849 |3ifdRyd [aRfy gz &= 1000000 N ARI
564 TR 183/205 6.0675 |3ffdeid  [aRig Hg=u &= 1000000 RS

565 TR 6 6.0917 [3ifdRd [aRfey gz &= 1000000 NHHRI
566 TAUR 42 6.2697 |3ffdeRd  [aRig Hg=u & 1000000 A TR
567 TR 80 6.383 |3ifdeiyd [aRfey gz &= 1000000 NHHRI
568 TAURR 56 6.4234 |3fidoRd  [aRig Hg=or e 1000000 AR
569 TR 79 6.9897 |3ifdeiyd [aRfey gz &= 1000000 NHHRI
570 TR 217/101 7.0504 |3ffdeRd  [aRig Hg=o & 1000000 1.HRT
571 TR 222/106 7.0858 |3ifdeiid [aRfey gz &= 1000000 NHHRI
572 TR 164 7.2001 [3ffdoRd  [aRig Hg=or e 1000000 1.HRT
573 TR 47 7.3699 |3ifdRid [aRfey gz &= 1000000 NHHRI
574 TAURR 150 7.3942 [3fidoRd  [aRig Hg=u e 1000000 A TR
575 TR 59 8.1951 [3ifdsiyd [aRfey gz &= 1000000 NHHRI
577 TAURR 151 8.4297 |3fidoRd  [aRig Hg=u & 1000000 A TR
578 TR 23 8.4459 |3ifdRyd [aRfey gz &= 1000000 NHHRI
579 TAURR 78 8.7291 |3fidoRd  [aRig Hg=u & 1000000 AR
580 TR 83/378 9.0041 |[3ffdpiyd  [gikie Fg=or &= 1000000 NHHRI
581 TAUR 57 9.3196 |3ifdpRd |aRly FE=w &= 1000000 AR
582 TR 55 9.5057 |3ffdepiid  [gikie Hg=vr &= 1000000 NHHRI
583 TAUR 64 9.5462 |3ifdpRid |uRly FE=w &= 1000000 A TR
584 TR 35 9.7808 |[3ffdpiid [gikiey gz &= 1000000 NHHRI
585 TR 229/67 10.3051 [sfidspiRid  [OiRie I+ a=ror &= 1000000 1.HRT
586 TR 1 10.9862 |3ffdepiRd [uRie Fgzm & 1000000 NHHRI
587 TR 95 12.2402 [SfidspRid  [gRie - E=0r &= 1000000 1.HRT
583 TR 155 12.4101 [3f[dpiRd  [aRie Fgzm e 1000000 NHHRI
589 TAUR 77 12.7094 [SfidspRid  [TiRie I+ =ror &= 1000000 AR
590 TR 16/377 13.1463 [3f[depiRid  [aRie gz & 1000000 NHHRI
591 TR 4 13.1948 [SfidspRid  [TRie I+ E=0r &= 1000000 1.HRT
592 TR 74 13.5831 [3f[depiRd  [uRie Fgzmn & 1000000 NHHRI
593 TR 163/379 14.7319 [SfidspRid  [gRie - E=0r &= 1000000 1..HRT
594 TR 65 14.7481 [3f[dpRd  [aRie Fgzm & 1000000 NHHRI
595 TAURR 165 15.3225 [SfidspiRid  [TRie I+ =I0r &= 1000000 A TR
596 TR 220/106 15.4772 |3f[dpiRd  [aRie gz e 1000000 NHHRI
597 TR 226/62 15.5251 [sfidspiRid  [TRiel I+ =I0m &= 1000000 1.HRT
598 TAANR 147 15.549 [3f[depiRd  [uRie Fgzmn & 1000000 NHHRI
599 TAUR 36 15.549 [sfidspiRid  [TiRie I+ a=r0r &= 1000000 AR
600 TAANR 76 16.18  |3f[depiRrd  [uRie Fgzm & 1000000 NHHRI
601 TR 164/380 16.3822 [SfidspiRid  [TRie I+ =I0r &= 1000000 1.HRT
602 TR 21 16.4308 |3f[dpiRrd  [uRie Fgzm & 1000000 NHHRI
603 TAUR 58 16.5521 [sfidspiRid  [TiRiel I+ a=ror &= 1000000 A TR
604 TR 33 17.078 [3f[depiRd  [uRie Fgzmn & 1000000 NHHRI
605 TR 223/107 17.1575 [SfidsbiRid  [gRie I+ =0m &= 1000000 1..HRT
606 TR 53 17.2155 |3f[depiRd  [aRie Fgzm & 1000000 NHHRI
607 TAURR 40 17.4097 [SfidspiRid  [TiRie I+ a=r0r &= 1000000 AR
608 TR 160 17.5877 |3f[depiid  [uRie gz & 1000000 NHHRI
609 TR 236/105 17.7442 [S{idbRid  [gRig - E=0m &= 1000000 1.HRT
610 TR 9 17.7575 |3fidepiRid  [aRie Fgam & 1000000 NHHRI
611 TR 232/68 17.7916 [SfidspRid  [gRie I+ =I0r &= 1000000 1.HRT
612 TR 2 18.0003 |3f[dpiRrd [uRie Fgzm & 1000000 NHHRI
613 TR 72 18.2106 [SfldspiRid  [TRie I+ =I0r &= 1000000 1.HRT
614 TR 138 18.5099 |3f[depiRrd [uRie Fgzm & 1000000 NHHRI
615 TAURR 5 19.1895 [sfidsbiRid  [TiRiel I+ a=Iur &= 1000000 A TR
616 TAANR 46 19.6749 [3f[depiRid [uRie gz & 1000000 NHHRI
617 TR 12 19.8852 [sfldsbiRid  [TRiel I+ =Iur &= 1000000 1.HRT
618 TR 29 21.0259 |3ffdpiyd  [gikiey g &= 1000000 NG HRI
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619 TR 115 21.4628 |3ifdpRid |aRlY FE=w &= 1000000 1R
620 TR 73 22.2637 |3ffdiid  [gikiy Fg=or &= 1000000 NHHRI
621 TAURR 7 22.5549 |3ffdeid  [aRig Hg=u & 1000000 AR
622 TAANR 34 22.9109 [3ffdpiid  [gikiey gz &= 1000000 NHHRI
623 TAUR 43 23.7037 |3ifdpRd  [aRlY FEE &= 1000000 A TR
624 TR 162 23.8979 [3ffdpiid  [gikiey gz &= 1000000 NHHRI
625 TAURR 13 23.9707 |3ifdpRd  [aRlY FE= &= 1000000 A TR
626 TR 11 24.0111 [3ffdpifd  [gikiey Fg=or &= 1000000 NHHRI
627 TR 14 24.1082 |3ifdpRd |aRlY FE=w &= 1000000 1..HRT
628 TR 48 24.9253 |3ffdiyd  [gikiey Fg=or &= 1000000 NHHRI
629 TR 38 24.9819 |3ifdpRd |aRlY FE=w &= 1000000 1.HRT
630 TR 50 25.1033 [3ffdpiid  [gikie Hg=or &= 1000000 NHHRI
631 TAUR 71 25.1923 |3ifdpRd  [aRlY FEF &= 1000000 AR
632 TR 10 25.2813 [3ffdpiid  [gikie gz &= 1000000 NHHRI
633 TR 148 25.2813 |3ifdpRd  [aRlY FEEm &= 1000000 1.HRT
634 TR 149 25.2813 [3ffdpiid  [gikiey Rg=or &= 1000000 NHHRI
635 TAURR 15 25.2813 |3ifdpRd [aRlY FE=m &= 1000000 A TR
636 TR 17 25.2813 [3ffdpiid  [gikiey Rg=or &= 1000000 NHHRI
637 TR 22 25.2813 |3ifdpRd [aRlY FE=m &= 1000000 1.HRT
638 TR 37 25.2813 [3ffdpiid  [gikie Rg=or &= 1000000 NHHRI
639 TR 44 25.2813 |3ifdpRd  [aRlY FE=m &= 1000000 1.HRT
640 TR 45 25.2813 [3ffdpiid  [gikie gz &= 1000000 NHHRI
641 HihaTd 21 1.1973 |3ifdild  [aRie g=or & 380000 1.HRT
642 il 39 1.4076 |3ifdpRd [Tkl Rg=ur &= 380000 A7
643 b 35 1.5694 |3{[dHRIT [TRIY =0T &= 380000 EEE
644 o 34 2.6049 [3ffddiRq [aRIY Fa=ur & 380000 EES
645 HihaTd 13 2.6616 [SfldeRId [Ty - =0m &= 380000 A1.HRT
646 Hihelld 4 5.1371 |3t [aRie g &= 380000 IRTAT
647 HihaTd 14 5.1614 |3ffdbRid |aRlY Fg= &= 380000 1.HRT
648 Hihelld 20 5.2989 [sffidpRid [y g &= 380000 AR
649 HihdTd 11 6.1403 [3f[deRId [Ty - =0m &= 380000 IRHEL
650 il 3 6.2212 [3ffdpRid  [giRiy g &= 380000 NHHRI
651 HihaTd 8 6.9897 |3ffdpRid |aRiy Fg=m &= 380000 1.HRT
652 il 24 8.09 [3ifdeiRyd [aRfy Mgz &= 380000 NHHRI
653 HihaTd 1 9.3439 [3f[deRId [Ty - =0r &= 380000 1..HRT
654 BICSIE 27 10.7516 [3fidpRid  [aRfe gz &= 380000 NHHRI
655 HihaTd 10 12.944 |3ffdoRd  [aRiYg Hg=or & 380000 1.HRT
656 Hihelld 12 14.8209 [3fidpRid  [TRfY gz &= 380000 NHHRI
657 HihaTd 6 15.0555 | 3{fdpRid  [aiRlY Fg=m &= 380000 A1.HRT
658 o 25 15.6137 [31fdiRiq  [aRIY a0 & 380000 EES
659 HihaTd 5 17.0537 |3ffdpRid [kl Fg=m &= 380000 1.HRT
660 M drd 40 18.5827 [31fdiRiq  [aRIY a0 & 380000 EES
661 b 36 20.6457 |3ffddRd  |TRIY =07 & 380000 EEE
662 Hihelld 22 20.8722 | 3(fdRyd  [aRfey gz &= 380000 NHHRI
663 HihaTd 16 22.8462 [S{ldbRId  [TiRIY =107 &= 380000 1..HRT
664 Hihelld 17 25.2813 | 3ifdRId  [aRfey gz &= 380000 NHHRI
665 HihaTd 18 25.2813 [SMldRId  [TiRIY =107 &= 380000 1..HRT
666 Hihelld 19 25.2813 | 3ifdsRId  [aRfey gz &= 380000 NHHRI
667 HihaTd 23 25.2813 [SMldbRId  [TiRIY =07 &= 380000 1.HRT
663 Hihelld 26 25.2813 | 3ifdsRId  [aRfey gz &= 380000 NHHRI
669 Tfear 91 1.0355 |3{[dHRIT [TRIE =0T &= 600000 EES
670 gisar 87/359 1.1002 |3ifdepRd [Tkl Rg=ur &= 600000 AR
671 Jisan 55/711 1.1326 |3ffdpiyd  [gRIY I &= 600000 EEE]
672 gisar 188/451 1.1568 |sfidpiid  [gikie Fg=or &= 600000 NHHRI
673 Tfear 189 1.1568 |3{[dHRIq [TRIY =0T &= 600000 EES
674 Tiear 111/432 1.1811 [3MfdpRId  [aRIY Fg=om & 600000 EES
675 IES] 115/436 1.2215 |3ffdpRd  [aRlY FgEm &= 600000 A1.HRT
676 Tiear 111 1.2944 [3ffqpita  [giRig o= & 600000 EES
677 Tfear 66 1.3024 |3{[dHRIT [gRIE =0T &= 600000 EES
678 gisar 43/721 1.3267 |3ifdpRd [Tkl Rg=or &= 1180000 N HRI
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679 247/242 1.6103 |3ffdpRid [gRly Fg=m &= 600000 1R
680 57/712 1.7636 |3ffddpitd  [gRig gz & 600000 EES

681 183/449 1.7798 |3ffdpRid  [aRly Fg=m &= 600000 1.HRT
682 50 1.8607 [3ffaditd  [gRig gz & 600000 EES

683 96 1.8768 |S{idpid [URIY Iz & 600000 qRTAT
684 51 2.2247 [3ffddRa  [uRiY Fa=or &= 600000 EES

685 185/450 2.3784 [Sf[deRId [Ty - E=0r &= 600000 A TR
686 58 2.427 |effaoRid  [aRie = e 600000 EES

687 94 2.5726 |3ffdoiRia  [URIY T & 1180000 EES

688 178/207 2.7506 |[3ffdiRiq  [aiRIY Fa=or & 600000 IRMT
689 63/687 2.9124 |3fidDRa  [uRIe Fa=0 &= 600000 golg

690 84 2.9124 [3f[deRid [aRie gz e 600000 AR
691 145 2.9285 |3ffdmiRia  [URIY I & 600000 EES

692 92/358 3.0742 [3ffdmRa [uRiY Fa=or &= 600000 EES

693 251/95 3.2225 |3 [URIY g0 & 1180000 EES

694 18 3.2926 [3ffddiRiq [uRIY a0 &= 600000 EES

695 191 3.3169 [Sf[deRId [Ty - =0r &= 600000 A TR
696 185 3.5515 [3fidepRRid [aRie Fgzmn &= 600000 N ARI
697 103/214 3.6 |Sf[deRid [gRiY =0 &= 600000 §olg

698 34 3.6243 [3ffddiRq [uRIY Fa=ur & 600000 EES

699 55/706 3.6809 |3ffddiRya |uRie a=ur &= 600000 golg

700 184 3.778 |3ffdsifa  [gikiy g &= 600000 AR
701 129 3.7942 |3 [URIY g0 & 600000 EES

702 202 3.8023 [3ffdmiRiq [uRIY Fa=ur &= 600000 EES

703 126 41744 |3AHRT  |TRIY =07 & 600000 EES

704 124 4.2391 |3ffddiRid  |[TRIY g0 & 600000 IRMT
705 85 4.498 |3l |aRiy FEE &= 600000 A TR
706 65 4.5465 |[3ffddiRq  [aRIY Fa=0r &= 600000 EES

707 59 4,587 |[3M[AHRIG [gRIg H=0r &= 600000 EES

708 33 4.7326 |[3ffddiRq [aRIY a0 &= 600000 EES

709 62/686 5.3394 |3MfdbRId [TRIY g0 & 600000 §olg

710 35 5.3636 |3MfddRId |TRIY g0 & 600000 EES

711 22 5.4607 |3MfdbRId  [TRIY g0 & 600000 qRTAT
712 190 5.485 |[3fiddpibd [URIY Iz & 600000 EES

713 98 5.4931 |3fidmRa [URIY I & 600000 EES

714 2 5.6144 [3fdpRId  [aRIY Fg=o ax 600000 EES

715 161 5.663 |3f[ddRId |TRIY HI=0T & 600000 EES

716 216/90 5.6708 |3 RId [TRIY Fg=um & 600000 EES

717 95 5.9057 |3fidmiRa [URIY a0 & 1180000 EES

718 57 5.9704 [3fdpRid [TRIY gz ax 600000 EES

719 49 6.027 [3fddRd |TRIY =0T & 600000 EES

720 36 6.0675 |3ffddiRiq [URRIY a0 & 600000 EES

721 112/434 6.3587 |3fidiRia  |uRie a=ur &= 600000 §olg

722 23 6.472 [3f[ddikid  |[URIY g0 & 600000 IRMT
723 46 6.5286 |3ffdoikia  [TRIY [=E=0T & 600000 EES

724 16 6.836 |[3fiddpiud [URIY Tz & 600000 EES

725 21 6.8765 |3ffdoikia  [TRIY [T=0T & 600000 EES

726 178 7.1192 [3ffdmRa  [aRiY Fg=or & 600000 IRMT
727 4 7.1596 |3fidmiRa [URIY Fa=0r & 600000 EES

728 157 7.2324 [3ffddR  [aRIY Fa=0r &= 600000 EES

729 162 7.2648 |3ffdmiRia  [URIY I & 600000 EES

730 183 7.5156 [3fidepiRid [aRie Fgzmn &= 600000 AR
731 62/685 8.09 [3f[dpRid [TRig Iz & 600000 goig

732 25 8.2113 [3fldepRid  [aRie gz & 600000 NHHRI
733 44 8.3003 [Sf[depRId [Ty - =0r &= 1180000 AR
734 68 8.3731 [3ffddiRiq  [uRIY Fa=ur & 600000 EES

735 105 8.5673 |3ffdikia  [URIY =TT & 600000 EES

736 130 8.7129 [sffdmiRa [aRiY Fg=r & 600000 IRMT
737 112 8.8181 |3ffddiRya |uRIe a=ur &= 600000 §olg

738 127 9.0203 [3ffdiRiq [uRiY Fa=u & 600000 EES
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739 e 194 9.0446 |3f[dRId [Ty =07 &= 600000 AR
740 Tiear 32 9.2792 [3ffdmiRq [uRiY Fa=ur & 600000 EES
741 IEEl 187 9.5785 |3fldeRId [Ty - =0r &= 600000 A TR
742 gisar 240/87 9.663 |[3ffdsiid  [gikiey g &= 600000 NHHRI
743 Tfear 55 9.7322 |3ffdmRia  [URIY I &= 600000 EES
744 Tiear 147 9.8455 [3ffddiRiq  [URRIY a=0r & 600000 EES
745 i 201 10.1529 | 3fidiRyd  |[aRie Fa=or &= 600000 §oig
746 gisar 166 10.3309 [3fidpRid  [aRfe Fg=m e 600000 NHHRI
747 gfear 3 10.3957 |SifdmRia  [TRIY F=07 & 600000 EES
748 Tiear 39 10.3957 [3ffdRiq  [aRIY a0 & 600000 EES
749 Tfear 92 10.4766 |3MfdmRia  [TRIY F=07 & 1180000 EES
750 gisar 171 10.7031 [3fidpRid  [aRfe gz g 600000 AR
751 gfear 8 11.7629 |3 Ra  [URIY F=07 & 600000 EES
752 Tiear 62 11.8519 [31fdpRIq  [TRIY a0 & 600000 EES
753 e 204 11.9732 |3fidiyd  |[aRIe Fa=ur &= 600000 §olg
754 Tiear 60 12,7418 [31fdRIq  [aRIY a0 & 600000 EES
755 Tfear 155 12.944 |3[qHRIT [gRIY =0T &= 600000 EES
756 Tiear 163 13.1058 [3ffdiRiq  [aRIY a0 & 600000 EES
757 IEEl 149 13.3647 |3fidiyd  |[aRIe Fa=0r & 600000 §olg
758 gisar 26 13.6236 [3fidpRid  [TRfY gz &= 1180000 AR
759 Tfear 156 13.8177 |SifdmRa  [URIY g=107 &= 600000 EES
760 gisar 182 13.8986 | 3fldpRid  [aRfe gz &= 600000 AR
761 Tfear 152 15.5733 [SffdmRa  [URIY F=0 & 600000 EES
762 Tiear 137 15.7512 [31fdiRiq  |[aRIY a0 & 600000 EES
763 gfear 100 15.7674 |SfdmRa  [URIY E=07 & 600000 EES
764 gisar 188 16.4065 | 3fidpRid  [TRfY gz &= 600000 AR
765 Tfear 77 16.5036 |SMfdmRIa  [TRIY I & 600000 EES
766 Tiear 29 16.5198 [3ifdiRiq  [aRIY a=ur & 600000 EES
767 Tfear 67 16.5764 |3fdmRIa  [TRIY I=07 & 600000 EES
768 Tiear 114 16.7382 [3ffdpiRIq  |[TRIY a0 & 600000 EES
769 Tfear 76 16.8677 |3MfdomiRia  [URIY [7=107 & 600000 EES
770 Tiear 48 17.2155 [3ffdiRiq  [aRIY a0 & 600000 EES
771 Tfear 57/707 17.3854 |3ffdmRia  [URIY I=07 &3 600000 EES
772 Tiear 125 17.4744 [3fdoRq  [aRIY a0 & 600000 EES
773 i 43 17.798 |3ifdepiid  [aRfe Hg=vr & 1180000 A TR
774 gisar 115 17.8142 [3fidpRid  [aRfe gz &= 600000 N ARI
775 IEEl 41 18.2834 |3fidiyd  |[aRIe Fa=ur & 600000 §olg
776 Tiear 148 18.5099 [31fdeiRiq  [aRIY a0 & 600000 EES
777 IEEl 117 19.0843 |3{fdpRd  |[gRIY FE=m &= 600000 A TR
778 gisar 139 19.7639 [3fidpRid  [aRfY Fgzm &= 600000 NHHRI
779 IEEl 11 19.9418 |3fidmiRyd  |[aRIe Fa=0r & 600000 golg
780 Tiear 13 20.0227 [3fidpiia  [URiS gz & 600000 EES
781 Tfear 70 20.0632 |3ffddpRd  |TRIY =07 & 600000 EES
782 gisar 118 20.1198 [ 3(fdsRd  [aRfey gz &= 600000 NHHRI
783 i 69 20.1198 |3fiddbiRa  [uikie a=ur &= 600000 §olg
784 Tiear 63 20.7104 [3fidpRa  [gRIY gz & 600000 EES
785 gfear 20 21.0259 |3ffdDH g |TRIY =0T & 600000 EES
786 Tiear 151 21.0502 [3fidpiig  [gRIS gz & 600000 EES
787 Tfear 73 21.1553 |3ffdDpRId  |TRIY =07 & 600000 EES
788 Tiear 28 21.2282 [3fiqpiig  [gRIe gz & 600000 EES
789 IEEl 27 21.2686 [SfldbRId  [TiRIY =07 &= 600000 AR
790 gisar 143 21.7378 | 3MfdRId  [aRfey gz &= 600000 N ARI
791 e 113 22.2313 [3{iqpRd  [URIY =0 & 600000 §olg
792 Tiear 9 22,6763 [3f[ddiRa  [UiRiY a=0r & 600000 EES
793 e 146 23.5662 |3{idpid  [URIg =0 & 600000 §olg
794 Tiear 104 23.6228 [3fiqdpitig  [gRIY gz & 600000 EES
795 IEEl 199 23.8008 [3{[dpRd  [URIY HI=0 & 600000 §olg
796 gisar 56 24.0678 | 3ifdpRId  [aRfey gz &= 600000 NHHRI
797 IEEl 102 24.4965 |3{[dpRd  [URIY =0 & 600000 golg
798 Tiear 198 24.9577 [3fidpRd  [URig gz & 600000 EES
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799 gfear 24 25.079 |3ffdiRa  [TRIY g0 & 600000 EES

800 Tiear 47 25.0952 [3fidpitig  [qRIS gz & 600000 EES

801 Jisan 128 25.1842 | 3MdHRId  [aRIY T &= 600000 EES

802 Tiear 52 25.257 [3ffdiRq  [aiRIY Fa=0r & 600000 EES

803 Tfear 150 25.2651 |3{[AHRIT  [TRIY =07 & 600000 EES

804 Tiear 12 25.2813 [3fidpitid  [URIS gz & 600000 EES

305 i 138 25.2813 [3fidp R [TRIg Iz & 600000 A TR
806 Tiear 203 25.2813 [3fiddpitia  [URIS gz & 600000 EES

807 gfear 40 25.2813 |3ffddbRId  |TRIY =07 & 600000 EES

808 Tiear 61 25.2813 [3fidpitid  [URIS gz & 600000 EES

809 Tfear 75 25.2813 |3ffddbRId  |TRIY =07 & 600000 EES

810 Tiear 10 25.4997 [3fidpiia  [URie gz & 600000 EES

811 Jisan 154 26.4139 |3MdHRId  [aRTY HI=01 &= 600000 EES
812 gisar 140 28.4202 | 3(fdRId  [aRfey gz &= 600000 AR
813 TRI & eun 6 1.1973 |3{[dHRIT [gRIY =0T &= 600000 EES
814 TRI D1 GIo 1761117 1.2519 [3ifdpRid  [aRIY gz & 1180000 EES
815 TRI &1 QUi 25/235 1.3186 |3ifdopiid  [aRfe g=ur & 600000 A TR
816 IRI BT 1ol 149 1.3267 |3ifdpRd [Tkl Rg=or &= 600000 NHHRI
817 TRI &1 QUi 158/256 1.5209 |3ffdpRid [aRiey gz &= 600000 A TR
818 IRI BT 1ol 161 1.618 |3MfdRid [aRfy gz &= 600000 NHHRI
819 TRI & QUi 171/259 1.7393 |3ffdpRid  [aRly Fg=m &= 600000 A TR
820 TRI D1 GIo 38 1.7636 [3ffddpitd  [gRig gz & 600000 EES

821 TRI & QUi 74 1.7959 |3ifdepiid  [aRie Hg=ur & 600000 AR
822 TRI D1 GIo 114 1.982 [3ffddiRia  [ulRid Fa=or & 600000 EES

823 TRI & QUi 128 2.0548 |SfidepRId [Ty - =0m &= 600000 A TR
824 TRI D1 GIo 151/252 2.071 [sffasiRid  [aRie = e 600000 EES

825 TRI &1 QUi 48 2.0953 [SfldepRId [Ty - =0r &= 600000 A TR
826 IRI BT 1ol 139 2.1843 [3f[depRid [aRie Fgzm e 600000 NHHRI
827 TRI &1 QUi 1 2.338 |3l |aRiy FEE &= 600000 A TR
828 IRI BT 1ol 136 2.6292 [3f[depRid [aRie gz &= 600000 NHHRI
829 TRI & QUi 123 2.8153 [Sf[deRId [Ty - =0m &= 600000 AR
830 IRI BT 1ol 110 2.8476 [3fldepRRid [aRie Fgzm &= 600000 NHHRI
831 TRI $I Uil 153/253 3.0984 |3f[deRId [Ty - =0r &= 600000 1.HRT
832 IRI BT 1ol 42 3.1146 [3f[depRRid [aRie Fgzm e 600000 NHHRI
833 TRI & QUi 75 3.2198 [Sf[deRId [Ty - =0r &= 600000 A TR
834 TRI D1 GIo 35 3.5434 [3ffdmiRq  [aRIY Fa=0 &= 600000 EES

835 TRI &1 QUi 166 3.7618 [SfldeRId [Ty - =0r &= 600000 A TR
836 IRI BT 1ol 130 3.8508 [3fidepidid [aRie g=mn & 600000 AR
837 IRI DI ST0il 40 3.8832 [Sf[deRId [Ty - =0r &= 600000 IRHET
838 TRI D1 GIol 20/233 4.0854 [3f[dpiia  [URIY gz & 600000 EES

839 TRI & QUi 159/257 4.1178 [SfidspiRyd  [TiRie I+ a=r0r &= 600000 A TR
840 IRI BT 1ol 122/237 5.3555 |3fidepiid  [aRie g=mn & 600000 NHHRI
841 TRI & QUi 126 5.7843 [SfldeRId [Ty - =0r &= 600000 A TR
842 IRI BT 1ol 137 5.8248 |sffidpRld [y g &= 600000 AR
843 IRI D1 ST0il 3 5.8814 |3ffdpRid [aRly Fg= &= 600000 IRMET
844 IRI BT 1ol 164 5.9704 [3ffidpRid [ty g &= 600000 NHHRI
845 TRI & eun 19 6.0917 |3ffdmiRia  [TRIY g0 &= 600000 EES

846 IRI BT 1ol 127 6.1079 [3fldepRRid [aRie Fgzm &= 600000 NHHRI
847 TRI $I Uil 124/238 6.1241 [3f[deRId [Ty - =0r &= 600000 1.HRT
848 IRI BT 1ol 49 6.2616 |3fldepiid [aRie Fg=mn &= 600000 NHHRI
849 TRI & QUi 171 6.5771 [SfldeRId [Ty - =0r &= 600000 AR
850 IRI BT 1ol 150 6.6176 [3fldepiRid [aRie gzmn &= 600000 NHHRI
851 TRI & QUi 141 6.9978 |SfldepRId [Ty - =0r &= 600000 AR
852 TRI D1 GIo 5 7.281 |SffasiRid  [aRie = & 600000 EES

853 TRI &1 QUi 52 7.5398 [SfldeRId [Ty - =0r &= 600000 A TR
854 IRI BT 1ol 122 7.5479 [3fidepRid [aRie gz &= 600000 NHHRI
855 TRI &1 QUi 124 7.6288 |SfldepRId [Ty - =0r &= 600000 A TR
856 IRI BT 1ol 170 9.0446 [3fldeRRid [aRie Fgzm &= 600000 NHHRI
857 TRI & QUi 138 9.1093 [3f[depRId [Ty - =0r &= 600000 A TR
858 TRI BT G0 20 9.1902 [3fdRq  [aRiY Fa=ur &= 600000 EES
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859 TRI & eun 44 9.5785 |3ffdoikia  [TRIY a7 & 600000 EES

860 TRI D1 GIo 31 10.2258 [3ffdiRiq  [aRIY Fa=ur &= 600000 EES

861 TRI & eun 29 10.7112 |3 Ra  [URIY E=07 & 600000 EES
862 IRI BT 1ol 145 10.7678 [3fidpRRid  [aRfe gz &= 600000 NHHRI
863 IRI D1 ST0il 103 10.9458 |3ffdpRId [l Fg= &= 600000 golg

864 IRI BT @1uil 162 11.148 [3ifdpRd [Tkl g &= 600000 NHHRI
865 TRI & QUi 146 11.2289 |3fIdpRId [l gz &= 600000 A TR
866 IRI BT 1ol 150/250 11.3017 [3fidpRid  [aRfe gz e 600000 NHHRI
867 TR DI Uil 169/258 11.3341 |3fidpRd [l Fg= &= 600000 1..HRT
868 IRI BT 1ol 168 12.4829 [3fidpRid  [aRfY gz &= 600000 NHHRI
369 TRI & QUi 143 12.5476 |3{IdbRId [l FE= &= 600000 AR
870 IRI BT 1ol 143/243 12.7337 [3fidepRd  [aRfe gz e 600000 NHHRI
871 TRI & QUi 169 13.0734 |3ffdBRd [kl Fg= &= 600000 AR
872 IRI BT 1ol 145/244 14.3598 [3fidepRid  [aRfe gz &= 600000 N ARI
873 TRI & eun 46 14.3598 [SffdmiRia  [URIY a=07 & 600000 EES

874 IRI BT 1ol 163 15.2496 | 3fidpRid  [aRfY gz &= 600000 NHHRI
875 TRI &1 QUi 54 15.3548 |3ffdpRId [kl gz &= 600000 AR
876 TRI D1 GIo 45 16.8757 [31fdiRiq  |[TRIY a0 & 600000 EES

877 TRI &1 QUi 148 16.9728 |3ffdpRId [kl Fg=m &= 600000 A TR
878 IRI BT 1ol 142 17.0537 [3fidepRid  [aRfe gz g 600000 NHHRI
879 TRI & QUi 132 17.7737 | 3{idBRd [l gz &= 600000 AR
880 IRI BT 1ol 25 18.4048 [3fidpRid  [aRfY Fg=m &= 600000 N ARI
881 TRI & eun 18 18.4937 [SffdmRia  [URIY =g=10r & 600000 EES

882 IRI BT 1ol 41 18.7122 [3fidpRid  [aRfY gz &= 600000 AR
883 TRI & eun 152 19.5616 |SMfdmRIa  [TRIY F=107 &= 600000 EES

884 IRI BT 1ol 159 20.0794 | 3(fdsRid  [aRfey gz &= 600000 NHHRI
885 TRI &1 QUi 167 20.0794 |3fidp R [TRIg Iz & 600000 AR
886 TRI D1 GIo 160 20.3221 [3fiqpRg  [gRIY gz & 600000 EES

887 TRI &1 QUi 153 20.4111 [3fidpRE  [TRIg Iz & 600000 A TR
888 TRI D1 GIo 10 21.3576 [3f[ddpitid  [URIY gz & 600000 EES

889 TRI & eun 135 21.6974 |3[AHRIT  [TRIY =0T & 600000 EES

890 TRI D1 GIo 151 21.8511 [3fiddpitg  [URIS gz & 600000 EES
891 TRI & eun 28 22,0695 |3ffddbRd  |TRIY =07 & 600000 EES

892 IRI BT 1ol 155 22.1019 [ 3ifdspRId  [aRfey gz &= 600000 NHHRI
393 TRI & QUi 158 22.9675 |3fidpRd  [TRIg Iz & 600000 A TR
894 IRI BT 1ol 128/239 23.2264 | 3(fdRId  [aRfy gz &= 600000 NHHRI
895 TRI &1 QUi 129 23.5014 |3fidp R [aRIg Iz & 600000 A TR
896 IRI BT 1ol 140 24.0273 | 3(fdRid  [aRfey gz &= 600000 NHHRI
897 TRI & eun 7 24.2943 |3ffdHRId  |TRIY =07 & 600000 EES

898 IRI BT 1ol 125 25.2813 |3ifdsRid  [aRfey gz &= 600000 NHHRI
899 TRI & eun 8 25.2813 |3ffdDbRId  |TRIY =07 & 600000 EES

900 BURT 274 1.0436 [3{[qHRId [gRie fg=ur &= 180000 §ols

901 THRT 374/526 1.1326 |3ffdpRid  [aRly Fg= &= 180000 1.HRT
902 BURT 112 1.1487 [3ffddpita  [gikig o= & 180000 IRTAET
903 BURT 278 1.1892 |3{[dHRIT [TRIY =0T &= 180000 EES

904 BURT 407 1.2135 [3{[qhRId [gRie g=ur &= 180000 §ols

905 TART 136 1.2215 [3{iqpRd  [URIY =0 & 180000 IRHT
906 BORT 143/417 1.2701 [3fdpRId  [aRIY gz & 180000 IR
907 BURT 21 1.4966 |3{[dHRIT [TRIY =0T &= 180000 EES

908 THRT 229 1.5613 |3ifdpRd [Tkl Rg=ur &= 180000 NHHRI
909 HRT 68/424 1.618 [3fidoRid  [aRig Ha=ur & 180000 §olg

910 BURT 253/462 1.6422 [3ffgmiRa  [aRIY g & 180000 §ols

911 HRT 124/414 1.715 [SfidspRId  [giRig - E=0r &= 180000 IRTAT
912 BURT 253 1.7231 [3{[qHRIq [gRie g=ur &= 180000 ¥ols

913 HRT 246/443 1.7474 |3ffdpRd [l FgE &= 180000 §olg

914 BURT 389 1.7474 [3{[qHRIq  [gRie g=ur &= 180000 §ole

915 BURT 137 1.7555 |AHRIT [TRIE =0T &= 180000 EES

916 BURT 64 1.7636 [3ffddpitd  [gRig gz & 180000 IRTAT
917 TART 141 1.8526 |S{idpitd  [URIg Y= & 180000 IRHT
918 BURT 47 1.9739 [siidpRa  [giRkig gz & 180000 IRTAET
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919 TART 260 2.2166 [3f[deRId [Ty -=0r &= 180000 AR
920 BURT 61 2.2409 [3ffdmRa  [aRIY g & 180000 dRTAT
921 BURT 306 2.2571 |3ffddRa  [TRIY g0 & 180000 EES

922 BURT 28 2.2813 [sffdmiRa  [aRIY g & 180000 IRTAT
923 BURT 287 2.3299 [3ffdmiRa  [URIY I & 180000 EES

924 BORT 148/418 2.3946 [3ffddiRq [aRIY Fa=0r &= 180000 IRTAT
925 BORT 49 2.4027 |3ffdoRa  [URIY g0 & 180000 qRTAT
926 BURT 400 2.6373 |sifdmiRa  [aRIY g & 180000 §ols

927 BURT 18 2.6777 |3ffdoRa  [URIY I & 180000 EES

928 BORT 129/416 2.702 [effaoiid  [aRie = e 180000 IRTAT
929 BORT 100 2.7425 |3ffdoRa  [URIY g0 & 180000 qRTAT
930 BURT 127 2.7586 |ffdmiRia  [URIY fg=r & 180000 IRTAT
931 BORT 39 2.8315 |3ffddRa  [URIY g0 & 180000 qRTAT
932 THRT 8 2.8557 [3fidepiRid  [aRie gz &= 180000 AR
933 TART 288 2.9366 |3ffddiRia  |uRle Fa=o &= 180000 §olg

934 BURT 83 2.969 [3fqpRId [gRie fg=ur &= 180000 §ols

935 TART 265 3.1146 [Sf[dRId [Ty FE=0m &= 180000 A TR
936 THRT 373 3.1712 [3f[deRid  [aRie gz e 180000 N ARI
937 BURT 401 3.1874 [3ffdmRa  [URIY g0 & 180000 EES

938 BORT 46/412 3.2036 |3ffddiRiq  [uiRIY a0 &= 180000 IRTAET
939 THRT 221/598 3.2926 [Sf[deRId [Ty - =0r &= 180000 1.HRT
940 BURT 60 3.4382 [sffdmiRa  [aRIY g & 180000 dRTAT
941 TART 226/419 3.4625 |3fiddiRya  |aRle Fa=0 & 180000 IRHT
942 BURT 293 3.5191 |sffdmiRa  [aRIY g & 180000 §ols

943 BORT 102 3.5757 |3ffdoiRa  [URIY a0 & 180000 qRTAT
944 THRT 259 3.5757 [3fidepRRid [aRie Fg=m e 180000 NHHRI
945 THRT 224/600 3.6162 [3f[deRId [Ty - =0r &= 180000 A1.HRT
946 BURT 404 3.6485 |ffdmiRia  [URIY fg=r & 180000 §ols

947 TART 2771436 3.689 |[SfidhRId [TRIe g & 180000 IRHT
948 THRT 11 3.7861 [3fldepRRid [aRie Fgzmn & 180000 NHHRI
949 BORT 82 3.8184 |3ffdmiRia  [URIY [=T=0T & 180000 qRAT
950 BURT 68 4.0935 |sffdmiRa  [aRIY Fg=r & 180000 §ols

951 BURT 291 41582 |3fdpRd  |TRIY =01 & 180000 EES

952 THRT 216/593 4.1906 |3MfdeRid [aRfey Mgz &= 180000 N AR
953 BORT 96 4.2877 |3 [URIY FE=0T & 180000 qRAT
954 THRT 320 4.4252 |3fdRid  [aRfy Ma=w &= 180000 NHHRI
955 THRT 256/482 4.498 |3ffdpRId [gRIY FE=0 &= 180000 1.HRT
956 THRT 257 4.5951 |3ifdeRid  [aRfe gz &= 180000 AR
957 BORT 38 4.676 |[3M[AHRIT [gRIY =0T &= 180000 qRAT
958 THRT 258 4.7326 |3MfdRid  [aRiy Mgz &= 180000 NHHRI
959 TART 34/411 4.7973 |3[dDHRd  [URIY =0 & 180000 IRHET
960 BURT 58 4.854 [3{fqpRId [gRie f=ur &= 180000 §ols

961 BORT 24/408 5.04 |3fddid [TRIY =0T & 180000 qRTAT
962 BURT 295 5.0967 |3ffdmiera  [URIY a0 & 180000 §ols

963 TART 137/428 5.2504 |3fiddiRid  |uRie Fa=or &= 180000 IRHT
964 BORT 223/589 5.2746 |3ffddiRiq [URIY a0 & 180000 IRTAET
965 TART 1 5.307 |3ifdpRd |aRiy FgE &= 180000 A TR
966 BORT 275/420 5.3879 [3ffddiRiq [uRIY a0 & 180000 IRTAT
967 TART 322 5.396 |3fidepRid [aRIg HI=ur & 180000 A TR
968 BURT 361/449 5.6306 |3ffdmira [URIY g & 180000 ¥ols

969 TART 305/422 5.938 [SfidbRId  [TRIe g0 & 180000 IRHT
970 BURT 292 5.9866 |3ffdmiera [URIY I & 180000 §ols

971 BURT 70 6.205 |3f[ddRId |TRIY Y= & 180000 EES

972 BURT 91 6.2131 |sffdmiRa  [aRIY g=r & 180000 ¥ols

973 BORT 128 6.294 [3M[AHRIT [gRIY H=0r &= 180000 qRTAT
974 BURT 50 6.4396 |ffdmiRia  [URIY g & 180000 IRTAT
975 BURT 81 6.569 |3f[ddRId |TRIY =0T & 180000 EES

976 BURT 5 6.6904 [3ffamia [aRIY Fg=or & 180000 §ols

977 BORT 32 6.8036 |3ffdoikia  [TRIY [I=0T & 180000 qRTAT
978 BURT 285 6.925 |[3{fqhRId [gRie fg=ur &= 180000 §ole




YfYy &7 faaror

PHH | (/AWM S | GERH | e A, '”a%&a!””‘[’ IRRESIR e |y It e
|mH)

979 TART 363/451 6.9978 |3ffddiRia  [uRie a=ur & 180000 §olg

980 BURT 272/438 7.4508 |ffdmiRa  [aRIY g=r & 180000 §ole

981 BORT 37/427 7.4589 |3ffdmiRia  [URIY g0 & 180000 qRAT
982 THRT 262 7.467 |3ffdsiid  [gikiy g &= 180000 NHHRI
983 BURT 36 7.6693 |3ffdmiRia  [URIY I & 180000 EES

984 BURT 59 7.7016 |3ifdmiRa  [aRIY Fg=r & 180000 dRTAT
985 BURT 402 7.8311 |3ffddiRa  [URIY g0 & 180000 EES

986 THRT 372 7.8553 [3fldepiRid  [aRie gz &= 180000 NHHRI
987 BORT 369 7.9848 |3ffdmiRia  [URIY g=0r & 180000 qRAT
988 BURT 362/450 8.4945 |affdmiRia  [URIY fg=r & 180000 §ols

989 BORT 26/409 8.5754 |3ffdiRia  [URIY [=I=0T &= 180000 qRAT
990 THRT 220/595 8.7695 [3fldeiid [aRie Fg=mr &= 180000 AR
991 BURT 84 9.0122 [3ffdmiRa  [URIY I &= 180000 EES

992 THRT 221/596 9.2792 [3f[depRid [aRie Fgzm & 180000 AR
993 BURT 251 9.3601 |3ffddiRia  [TRIY =TT & 180000 EES

994 BURT 364/452 9.4733 |sifdmiRa  [aRIY g & 180000 §ols

995 BURT 2 9.6028 |3ffdoiRia  [TRIY [I=0T & 180000 EES

996 BURT 277 9.7565 |3ffdmiRia  [TRIY fa=r & 180000 qIRTAT
997 TART 399 9.7808 [3fldeRId [Ty - =0r &= 180000 A TR
998 BURT 273 10.2258 |ifdmiRia  [aRiY Fg=or & 180000 ¥ole

999 TART 361 10.2743 | 3fidiyd  |[aRie Fa=or & 180000 §olg
1000 BURT 273/437 10.873 [3ffamiRa  [aRI Fg=r & 180000 §ols
1001 TART 388 10.9862 | 3fidiyd  |[TRIe Fa=0r &= 180000 §olg
1002 BURT 17 11.7305 |eifdmiRa  [aRTY Fg=or & 180000 §ols
1003 TART 261 11.7709 | 3{IdpRId [l gz &= 180000 A TR
1004 THRT 230/601 11.957 [sfidspRid  [giRiy Fg=or &= 180000 N AR
1005 THRT 281/434 12.0217 | 3fidiRyd  |[aRie Fa=or &= 180000 IRTAT
1006 BORT 358/483 12,135 [3ffdpRId  [TRIY g & 180000 IRTAT
1007 BURT 40 12,1593 [SffdmRa  [TRIY g=0 & 180000 EES
1008 BURT 394 12.2483 [ifdmiRa  [aRiY Fg=or & 180000 §ols
1009 BURT 6 12.3534 [SffdmRa  [URIY E=07 & 180000 EES
1010 BURT 304 12.5476 |eifdmiRa  [aRiY Fg=or & 180000 IRTAT
1011 BURT 13 12,5557 |SifdomiRia  [TRIY a=07 & 180000 EES
1012 BURT 37 12.7822 [eifdmiRia  [aRie Fg=or & 180000 §ols
1013 TART 406 12.9683 | 3fidmiyd  |[aRie Fa=ur & 180000 §olg
1014 BURT 286 13.1463 [ifdmiRa  [aRiY Fg=or & 180000 §ols
1015 BURT 354 13.1463 [SffdmRa  [TRIY a=0 & 180000 EES
1016 BURT 358 13.1463 |ifdmiRa  [aRTY Fg=or & 180000 ¥ols
1017 BURT 246 13.1786 |3ffdmRIa  [TRIY F=07 & 180000 EES
1018 BURT 247 13.3809 [sifdmiRia  [aRi Fg=or & 180000 §ols
1019 BURT 12 13.5831 [3ffdmRia  [URIY 7= & 180000 EES
1020 BURT 299 14.2869 |ifdmiRia  [aRTY gz & 180000 §ols
1021 BURT 92 14.3921 [SffdmRa  [URIY I &= 180000 EES
1022 BURT 364 14.4083 [ifdmiRa  [aRi Fg=or e 180000 §ols
1023 TART 368 14.6024 | 3{fdpRId  [gRIY gz &= 180000 A TR
1024 BURT 283 14.8856 |ifdmiRra  [aRIY Fa=r & 180000 qIRT
1025 TART 321 15.1768 |3ffdpRId [Tkl gz &= 180000 A TR
1026 BURT 362 15.1849 |ifdmiRia  [aRiY gz & 180000 §ols
1027 TART 10 15.193 |3ffdopiid  [aRig g=or & 180000 A TR
1028 BURT 19 15.4276 |eifdmiRa  [aRiY Fg=or & 180000 qIRT
1029 TART 398 16.633 |3ifdopiid  [aRie Hg=vr & 180000 A TR
1030 BURT 363 16.9405 |ifdmiRia  [aRTY Fa=or & 180000 §ols
1031 BURT 20 17.5472 | SR [URIY E=07 & 180000 EES
1032 BURT 282 17.9841 [eifdmiRia  [aRi Fg=or & 180000 IRTAT
1033 BORT 93 18.154 |3{[dHRIT [TRIY =0T &= 180000 qRTAT
1034 BURT 387 18.2106 |3ifdmiRia  [aRTY Fg=r & 180000 §ole
1035 BURT 386 18.34 |3ffdbidd  [URIY =TT & 180000 EES
1036 BURT 250 18.5099 [ifdmiRia  [aRTe Fg=or & 180000 §ols
1037 BORT 344 18.5665 |3MfdmiRia  [TRIY [=1a=107 &% 180000 qRTAT
1038 BURT 353 18.8092 [ifdmiRia  [aRTe gz & 180000 §ole
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1039 TART 324 19.0519 |3ffdpRId  [gRlY Fg=m &= 180000 AR
1040 BURT 360 19.0681 |ifdmiRia  [aRT gz & 180000 §ole
1041 HRT 390 19.1409 |3ffdpRId  [gRlY Fg=m &= 180000 §olg
1042 BURT 343 19.9014 [eifdmiRa  [aRiY gz & 180000 IRTAT
1043 TART 302 20.2331 [3{idpRd  [URIY =0 & 180000 qRTAT
1044 BURT 9 20.4596 |3ffddpiid  |TRTY g0 & 180000 §ole
1045 BURT 249 20.8722 |3{[dHRIT  [TRIY =07 & 180000 EES
1046 BURT 88 21.0259 [3{[qhRId  [aiRie fAg=ur &= 180000 §ols
1047 HRT 294 21.3981 [3fidp R [TRIg Iz & 180000 §olg
1048 BURT 351 21.4628 [3{[qhRId  [giRie fAg=ur &= 180000 §ols
1049 BURT 86 22.9109 |3ffdpRId  |TRIY =0T & 180000 EES
1050 BURT 33 22.9756 |3{[dhRId  [gRie fAg=ur &= 180000 §ols
1051 BURT 405 23.3154 |3{[dHRIT  [TRIY =07 &= 180000 EES
1052 THRT 323 24.1406 | 3(fd R [aRfey Ma=0 &= 180000 NHHRI
1053 TART 7 24.7473 [S{dBRIG  [gRIY 207 &= 180000 AR
1054 BURT 289 25.2813 [3{[qhR1d  [giRie fAg=ur &= 180000 §ols
1055 BURT 290 25.2813 |3{[AHRIT  [TRIY =07 &= 180000 EES
1056 BURT 352 25.2813 [3{[qhRId  [giRie fAg=ur &= 180000 §ole
1057 BURT 357 25.2813 |3{[AHRIT  [TRIY =07 & 180000 EES
1058 BURT 359 25.2813 [3{[qhRId  [giRie fAg=ur &= 180000 §ole
1059 TART 367 25.2813 [3fidp R [TRIg Iz & 180000 A TR
1060 THRT 375 25.2813 |3ifdRId  [aRfey gz &= 180000 NHHRI
1061 TART 376 25.2813 [3fidp R [TRIg Iz & 180000 AR
1062 THRT 377 25.2813 |3ifdspRId  [aRfey gz &= 180000 NHHRI
1063 TART 378 25.2813 [3fidp R [TRIg HI=u & 180000 A TR
1064 BURT 383 25.2813 [3{[qhR1d  [giRie fAg=ur &= 180000 §ols
1065 BURT 384 25.2813 |3{[AHRIT  [TRIY =07 & 180000 EES
1066 BURT 385 25.2813 [3{[qhRId  [giRie fAg=Aur &= 180000 §ols
1067 BURT 391 25.2813 |3{[AHRIT  [TRIY =07 & 180000 EES
1068 BURT 392 25.2813 [3{[qhRId  [giRie fAg=ur &= 180000 §ols
1069 BURT 393 25.2813 |3{[AHRIT  [TRIY =07 &= 180000 EES
1070 BURT 395 25.2813 [3{[qhRId  [giRie fAg=ur &= 180000 §ols
1071 BURT 396 25.2813 |3{[AHRIT  [TRIY =07 & 180000 EES
1072 BURT 397 25.2813 [3{[qhRId  [giRie fAg=ur &= 180000 §ols
1073 BURT 403 25.2813 |3{[AHRIT  [TRIY =07 & 180000 EES
1074 BURT 85 25.2813 [3{[qhRId  [giRie fAg=ur &= 180000 §ols
1075 BURT 87 25.2813 |3ffddbRId  |TRIY =07 & 180000 EES
1076 BURT 284 28.76 [3ffqmRId [gRie fg=ur &= 180000 IRTAT
1077 TART 300 30.2404 | 3fddbRa  [giRie Fa=or &= 180000 qRTAT
1078 BURT 301 33.4117 [3ffddpiRid  [URIY g0 & 180000 IRTAT




